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First Semester B.E./B.Tech. Degree Examinati‘o;n,-Dec.2023/Jan.2024
Introduction to C++ Programming

Time: 3 hrs. S, Max. Marks: 100

Note: 1. Answer any FIVE full questions, clmosihg ONE Sull question from each module.
2, VTU Fornula Hand Book is permitted. ~ «~

3. M : Marks , L: Bloom’s level , C: Course outcomes. .
Module -1 = M| L C
Q.1 | a. | What is C++? List the applications and features of the C++. , & 10 [ L1 | CO1
b. | Describe the structure of C++ program with an example. <= 10 | L2 | CO1
Q.2 | a. | Explain message passing with an example. N\ R _ 10 | L2 | CO1
b. | What are abstract classes? Discuss with an example. 10| L2 | CO1
4 Module — 2
Q3 ‘ a. | Write a C++ program to swap 2 values by wrmng a C++ function that uses | 10 | L3 | CcO2

|| call by reference technique.

|
t

' ! Slain expressions and their types with suitable examples. Ll LT | CO2
{ e ———————p——. ot - — ;.)R__‘_‘-»_,___ LT . -~ W
| | Write a C++ program i arrs - use of inline functions. LGt
‘ { T

§ = e D e i «-__.,..*__i__- N
| b | Explain keywords, identificrs and constant with scitable ex ample 1G! 1.2 3
Lt 70 o & n _ —— .
I ] Module-3 o
Q.3 L. | | Define constructor with syntax and expiain with an example. | 10 ].1,2
: L 1 : »

R I —
’ h | Describe th importance of desirucior and u\'slam it with a suitable Ct ‘ lﬂ | L2 | CO3
| | program. |
t“-ﬂ,l_ o ,_l L
N N OR

>

& | e Suppose we have three classes vehicle, four wheeler and car. The class | 10| L3 | CO3

| vemz.lc is the base class, the class fourwheeler is derived from it and the

i | class car is derived fom the class fouswheeler, class vehicle has a method {
{ | ‘vehicle’ that priss moa vehiele’. Class fourwhezier has a method ’
i Rawheeler’ that priois 1 bave four wheels', and class car has a method : |

“that prints “ am & ¢ 2. S0 as this is @ multi-level inheritance, we can |
vir aseess to all the oo classes methods from the Uhjr'ct of the cla-s car.

! We tnvoke 2l! the imetads from a car object and print th corTesponit g |
[ outputs of ibe methods: So. i we inveke the methads in this arder, car

| i : - ; .

i | four wheeler ), and vehicks! J. thwi the ot will be

Plamacar : i
U pave tour whesls
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h.A—l-',;plilif{{Iic“mﬁfﬁ‘;‘ﬁi7iiﬂl'L;T':Il'i"l_z{t_ﬁlnl‘;a\ts in functions, with a concrete | 10 | L2 | CO3
cexample,
‘Module - 4 il
Q.7 | a. | List the difference between text file handling and binary file handling in | 10 | L1 | CO4
L5 of
b. | Define the concept of a class hicr;u‘chyiixi‘CT’:A\ﬁﬁ{ Enfcx;ﬂn—p—l?l}ul? 10| L3 | CO4
illustrate the hicrarchy with at least three classcs.
OR
Q.8 | a. | Write the various functions used to open, close, read and write'in text files. | 10 | L2 | CO4
b. | Write a C++ program to writ¢ and read time in/from binary file using | 10 | L3 | CO4
fstrcam.,
Module - 5
Q.9 |a. | Define the concept of exception handling in C++. Explain how it differs | 10 | L2 | CO4
from traditional error-handling methods.
b. | Write C++ program function which handles array of bounds exception | 10 | L3 | CO4
using C++.
OR
Q.10 | a. | Describe the role of the throw statement in C++ exception handling. 10| L2 | CO4
b. | List and briefly explain two predefined exceptions in C++. How are these | 10 | L2 | CO4
exceptions commonly used in practice? '

L
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First Semester B.E./B.Tech. Degree Examination, Nov./Dec.2023
Introduction to C++ Programming

Time: 3 hrs. “ Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloonr’s level , C: Course outcomes. §

Module-1 M| L C

Q.1 | a. | Differentiate between object-based and object oriented procrammina Also| 6 | L2 | COl
write the features of C++ and give reason, why C++ is not pure object-
oriented programming? ,
b. | With help of first C++ program, explain the basic syntax of C++ program. 8 | L1 | COl
¢. | With suitable example, explain the concept of classes and objects. 6 | L1 | CO1
OR
Q.2 | a. | How objects communicate by using message passing? Explain with suitable | 6 | L2 | COl
example. ,
b. | What are abstract classes? With suitable example, explain the advantages of | 6 | L1 [ CO1
abstract classes.
¢. | Describe - the terms Abstraction, Encapsulation, Inheritance and | 8 | L1 | CO1
Polymorphism. ‘
Module -2
Q.3 |a. | List and explain the different types of expressions supported in C++, write | 10 | L1 | CO2
at least one example for each. \
b. | What is function in C++? With syntax explain the importance of function | 4 | L2 | CO2
prototyping.
¢. | Write a C++ program to swap two integer numbers by writing a function | 6 | L3 | CO2
that uses call by reference method.
OR
Q.4 |[a.| What are inline functions in C++? When compiler, ignore the request of| 8 [ L2 | CO2
inline function? Also write the situations when inline functions may not
work.
b. | What do you mean by function overloading? Write a C++ program to | 8 | L3 | CO2
demonstrate function overloading for the following prototypes.
add(int a, int b) ;
add(double a, double b) ;
¢. | What are default arguments? When they are useful? 4 | L2 | CO2
Module -3
Q.5 | a. | What are constructors in C++? Write any six characteristics of constructors. | 8 | L1 | CO3
b. | With suitable example,  explain default constructor and parameterized | 8 | L2 | CO3
constructor.
¢. | What are destructors in C++? Describe. 4 | L1 | CO3
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OR

==iil

Q.6

"What is multiple inheritance? When ambiguity arises in multiple
|inheritance? Write a2 program to demonstrate ambiguity in multiple
| inheritance and to resolve the same.

10| L3

CO3

b.

Create a class named shape with a function that prints “This is a shape™.
Create another class named polygon inheriting the shape class with the
same function that prints polygon is a shape. Create two other classes
named Rectangle and Triangle having the same function which prints
“Rectangle is a polygon™ and “Triangle is a polygon™ respectively. Again
make another class named square having the same function which prints
“Square is a rectangle™. Now, try calling the function by the object of each
of these classes.

10| L3

CcO3

“Module - 4

Q.7

"What arc C++ streams? With a neat diagram, explain C#+ stream class
hierarchy.

10| L1

CO4

Write a C++ program to create a text file, check file created or not, if
created write some text into file and then read the text from the file to
display on the screcn.

10| L3

CO4

OR

Q.8

HH

With syntax cxplain the functions used to open, close, read data from,
write data 10 text files and detect the end of file.

10} L1

CO4

b.

Writc a C++ program to write and read time to/from binary file using
fstream. ' :

- —

~ Module-§ o

Q.9

i

b,

What is an exception? Write the common reasons far exception to occur
and explain the exception handling mechanism in C++,

Write the general format of try-catch block which invokes a function that
generates exception. Write C++ program to demonstrate how a try block
invokes a function that generates division by zero exception and cateh it in
catch block.

CO4

CO4

CcO4

OR

Q.10

Write the general format of multiple catch statements. Write a C++
program to demonstrate multiple catch statements.

1| Ly

co4

b.

With suitable example, explain generic catch statement and exception
rethrowing mechanism.

10| 1.2

CO4

- " W ww
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First/Second Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024
Applied Physics for EEE Stream

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom’s level , C: Course outcomes.
4. Speed of light ¢ =3 x 10° ns, K= 1.38 x 107" J/K, h = 6.625 x 107" JS, g = 9.8 m/s’,
€,=8.854 x 10" I/m

Module -1 M| L C

Q.1 | a. | State and explain Heisenberg’s uncertainty principle and show that there is | 9 | L2 | CO1
no existence of clectrons in the nucleus of an atom.

b. | What is a wave function, probability density and normalization of wave | 7 | L2 | COl
function?
¢. | Find the lowest cnergy of an clectron confined to move in a one| 4 | L3 | COl
dimensional potential box of length 1A in electron volts.

OR

Q.2 | a. | Sctup time Independent Schrodinger’s wave equation for a particle in one | 7 | L2 | COl
dimension. «

b. | Discuss the wave functions, probability densities and energy for a particle | 9 | L2 | CO1
in a box by considering the ground state and first two excited states.

¢. | Calculate the de-Broglic wavelength of an clectron when it is accclerated to| 4 | L3 | CO1
a potential of 5000 V.

Module -2

Q.3 | a. | Mention any three assumptions of quantum free elcctron theory. Discuss | 9 | L2 | CO1
the variation of Fermi factor with temperature and energy.

Explain the construction and working of MAGLEV vehicle. L2 | CO1

(=)

c. | An elemental solid diclectric material has polarizability of 7 x 10™ Fm?. | 5 | L3 | CO1
Assuming the internal field to be Lorentz field, calculate the dielectric
constant for the material if the material has 3 x 10%® atoms/m”.

OR

Q.4 | a. | What is super conductivity? Describe Type-1 and Type-II superconductors. | 7 | L2 | CO1

b. | What is dielectric polarization? Explain various types of polarization | 8 | L2 | CO1
mechanism.

¢. | Calculate the probability of an electron occupying an energy level 0.02 eV | 5 | L3 | CO1
above the Fermi level at 200 K and 400 K in a material.

Module -3

Q.5 |a. | Obtain an expression for cnergy density of radiation under thermal| 8 [ L2 [ CO2
equilibrium conditions in terms of Einstein’s coefficients.

b. | What is attenuation? Explain different types of attenuation in optical fibers. L2 | CO2

o0

¢, | The average output power of laser source emitting a laser beam of wave | 4 | L3 | CO2
length 6328 A is 5 mW. Find the number of photons emitted per second by
the laser source.

OR
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Q.6 What is numerical aperture? Obtain an expression for numerical aperture | 9 | L2 | CO2
interms of refractive indices of core and cladding of an optical fiber.
Describe the working of a laser printer. 6 | L2 | CO2
The attenuation of light in an optical fiber is estimated at 2.2 dB/km. What | 5 | L3 | CO2
fractional initial intensity remains after 2 km and after 6 km.

Module — 4

Q.7 State and prove Gauss Divergence theorem. 7 | L2 | CO3
Explain Faraday’s laws of electromagnetic induction and amperes law. | 8 | L2 | CO3
Express the same in point form.
Determine the constant ¢ such that the vector 5| L3 | CO3
A =(x+ay)a, +(y+bz)a, +(x+cz)a, issolenoidal.

OR

Q.8 Derive wave equation in terms of electric field using Maxwell’s equations | 8 | L2 | CO3
for free space.
Discuss continuity equatlon Derive the expression. for displacement | 8 | L2 | CO3
current.
Calculate the curl ofA given by A (1+yz )a +xy’ d, +x *ya, . el e

Module -5

Q.9 Derive an expression for electrical conduct1v1ty in extrinsic and intrinsic | 8 | L2 | CO4
semiconductors.
Describe the construction and working of semiconductor laser with energy | 8 | L2 | CO4
level diagram.
The Hall coefficient of a specimen of a doped silicon is found to be | 4 | L3 | CO4
3.66 x 10™ m*/c. The resistivity of the specimen is 9.93 x 10~ ohm-m. Find
the mobility and charge carrier density assuming single carrier conduction.

OR

Q.10 Explain Fermi level in an intrinsic semiconductor and derive the relation| 9 | L2 | CO4
between Fermi energy and energy gap for an intrinsic semiconductor.
Explain construction and working of photo diode. 7 | L2 | CO5
The resistivity of intrinsic germanium at 27°C is 0.47 ohm-meter. If the | 4 | L3 | CO4

electron and hole mobilities are 0.38 m*/VS and 0.18 m*/VS respectively.
Calculate the intrinsic carrier density.

L B S O
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USN BPHYM102/202

First/Second Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024
Applied Physics for ME Stream
Time: 3 hrs. s Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. VTU Formula Hand Book is permitted.

3. M : Marks, L: Bloom’s level , C: Course outcomes.

Module -1 ) M| L C

Q.1 |a., | What are damped and forced oscillations? Obtain the dlff'erentlal equation | 9 | L2 | CO1
of motion of a body undergoing forced oscillation and mention the
expression for amplitude and phase of oscillation.
b. | Describe the construction and working of Reddy shock tube. 7 | L1 COl1

c. | In a Reddy shock tube, the time taken to travel between two sensors is | 4 | L3 | COl
275ps. If the distance between two sensors is 140mm, calculate the Mach
number. Assume the speed of sound as 340 m/s.

OR

Q.2 | a. | Define stiffness factor. Derive the expression for equivalent force constant | 9 | L2 | COl
for two springs connected in series and parallel combination.

b. | Define Mach number and Mach angle. Mention four characteristics of | 6 | L2 | COl
shock wave.

c. | Three springs are connected in series and 500gm object attached at one end | 5 | L3 | CO5
of a spring. If spring constant K; = K, = K3 ='50N/m, then calculate the
change in length oflhc three springs. Assume accelerating due to gravity as
g =10 m/s’,

Module -2

Q.3 |a. | State and explain Hook’s law. With neat diagram, explain the stress-strain | 8§ | L2 | CO1
curve for elastic materials.

b. | Explain differential elastic moduli and mention the relation between them. 7 | L2 | COl

¢. | A rod of cross section area 'I5mm x 15mm and Im long is subject to | 5 | L3 | COl
compressive load of 22.5kN. Calcu ate the stress and decrease in length if
Young’s modulus is 200 x 10° N/m?.

OR

Q.4 | a. | What is Poisson’s rauo’? Derive the relation between bulk modulus (K).| 9 | L2 | CO1

Young's modulus (Y) and Ponsson s ratio (). What are the limiting values
of Poisson’s ratio?

b. | What is Bending moment? Discuss different types of beams and mention | 7 | L2 | CO1
their enginecring application.

¢. | Calculate the Poisson, ratio for the material. Given that Y =12.25x10'° N/m° | 4 | L3 | CO1
and 1 =4.55 x 10'" N/m?,

Module - 3

Q.5 | a. | Discuss Seebeck effect and Peltier effect with their coefficients. 8 | L2 | CO2

b. | Describe the construction and working of Thermo Electric Generators | 7 | L2 | CO2
(TEG)
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The thermo emf (in V) of a thermocouple, one junction of which is at 0°C | 5 L3 | CO2
is given by e = 1600T - 4T?, where T is temperature of hot junction. Find
the neutral temperature and Peltier coefficient.

OR .

Q.6 Derive the expression for thermo emf in terms of Ty and Ta. 8 | L2 | CO2
Explain the construction and working of  thermopile. Mention four| 7 | L2 | CO2
advantages. ;

The thermo emf of a Cu-Fe thermocouple is 2160uV, where. the cold | 5 L3 | CO2
junction is at 0°C and hot junction at 250°C. Calculate the constants a and b
if the neutral temperature is 330°C." |

Module — 4 ~

Q.7 What __is _ Joule-Thomson’s- effect?  Derive  the ~ expression| 8 | L2 CO3

AT = _P,;P;[Z_a_ b} using the theory of Joule theorem effect.
C, LRT _1 1»
Explain briefly the _app]ication of cryogenics in aerospace and tribology. 8 | L2 | CO3
In Joule — Thomson’s experiment, temperature changes from 100°C to | 4 | L3 CcOo3
150°C for. pressure change of 20MPa to"170 MPa. Calculate the Joule —
Thomson coefficient. .
\ OR ;

Q.8 Explain the construction and ‘working of Porous plug experiment with neat | 8 | L2 | CO3
diagram.

Explain the liquefaction of Helium. 8 | L2 | CO3
Calculate the inversion temperature of gas. Given 4 | L3 | CO3
a=0.244 atom L2/molz, b =0.027 L/mol,  and R =0.0821 L atom/K/mol.

’ | Module -5

Q.9 Explain the construction and working of X-ray diffraction meter (XRD). 7 | L2 | CO4
With: a'neat sketch, explain the Vprinciple construction and working of | 9 | L2 | CO4
Transmission Electron Microscope (TEM).

.| Determine the wavelength of X-rays for crystal size of 1.188 x 10°m. Peak | 4 | L3 | CO4
width 0.5° and peak position 30° for a cubic crystal. (Given: Scherrer
constant K =0.92). N
} . OR’

Q.10 Describe the construction and working of X-ray photoelectron spectroscopy | 8 | L2 | CO4
(XPS) . v e
Describe “the construction and working of Atomic Force Microscopy | 8 | L2 | CO4
(AFM). A
Calculate the longest wavelength that can be analyzed by using a rock salt | 4 | L3 | CO4

crystal of spacing, d = 0.282nm in the second order.

L R O
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First/Second Semester B.E./B.Tech. Degree Exﬁi’nihﬁtion, Dec.2023/Jan.2024

Applied Physics for CSE Stream

Time: 3 hrs. (" Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full quesnon Sfrom each madule

2. Draw neat sketches where ever necessary.

3. VTU Formula Hand Book is permitted. ,

4 M : Marks , L: Bloom’s level , C: Course outcomes.
5. Constants: Speed of Light C =3 10°nvs, Boltzmam const. K = 1. 38><10'"J/K'
PlancA s const h = 6.625 x 10°°JS, Acceleration due to gravity g =9. 8m/s ,
Permittivity of Free space e, =8. 854x107° Fri’

Module—1 y M| L C
Q.1 | a. | Define LASER and explain the interaction of radiation wnh matter for the 7 | L1 | CO1
induced absorption, spontaneous emission and stlmulated emission.
b. | Discuss different types optical fibers based on‘modes of propagation and | 9 | L2 | CO1
refractive mdex profile.
¢. | Find attenuation in an optical fiber of length 500m, when a light signal of | 4 | L3 | CO1
power 100mW emerges out of the fiber with a power of 90mW.
OR A
Q.2 | a. | Obtain the expression for energy density of radlatlon using Emstem s| 9| L2|COl
co-efficient A and B and thus conclude By = By i
b. | Discuss point to point Icommunication using oplical fiber. 6 | L2 | CO1
c. | In a diffraction grating experiment the LASER light undergoes second | 5 | L3 | COS
order diffraction for diffraction angle 1.48°. The ‘grating’ constant
d =5.05 x 10° m and the distance between the grating and source is 0.60m,
find the wavelength of LASER light.
<D - ‘Module -2
Q.3 | a. | State and explain Heisenberg’s uncertainty principle. Using the principle | 7 | L2 | CO2
i 'show that electron doesn’t exist inside lhe nucleus.
b. | Set up Schrodlnger s time mdependem wave equatlon in one dimension. 8 | L2 | CO2
c. | A particle .of mass 0.5 MeV/C' has kinetic energy 100 eV. Find its| 5 | L3 | CO2
de-Broglie wavelength where ‘C’ is the velocity of light.
OR
Q.4 | a. | Find the Eigen values and Eigen functions for a particle in one dimensional | 9 | L2 | CO2
infinite potential well. ’
b. | Discuss de-Broglie hypothesis. 6 | L2 | CO2
¢. | Calculate the-energy of the first three states for an electron in one| 5 | L3 | CO2
dimensional potential well of width 1A°,
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Module - 3

Q.5 Explain the representation of qubit using Bloch sphere. L2 | CO2
Discuss CNOT gate, matrix representation and its operation on four L2 | CO2
different input states. ‘
A linear operator X operates such that X |0) =|1)and - X |1} =|0) L3 | CO2
Find the matrix representation of X

OR

Q.6 State the Pauli’s metrics and apply Pauli matrices on the states |0) and |1} L3 | CO2
states.
Elucidate the differences between classical and quantum computing. L2 | CO2
Explain matrix representation of 0 and 1 states and apply identify operator L3 | CO2
[to |0) and |1) states. s

Module — 4

Q.7 Enumerate the failures”of Classical Free Electron [CFET] Theory and L2 | CO3
mention the assump@xons of Quantum Free Electron Theory [QFET]
Describe Meissner’s effect. Distinguish‘between Type I and Type II super L2 | CO3
conductors. :
Lead has a superconducting transition temperature of 7.26K. If initial field L3 | CO3
at 0K'is 50 x 103Am™", calculate the critical field at 6K.

OR /

Q.38 Define Fermi factor. D1scuss the variation of Fermi factor with temperature L2 | CO3
and energy.
Explain the phenomenon of super conductmty Discuss quahtatlvely BCS L2 | CO3
theory of super | conductnvxty : \
Calculate the probability of occupatmn of an energy level 0.02eV above L3 | CO3
Fermi level at temperature 200K. o

: Module -5 )
Q.9 Discuss timing in linear motion, uniform motion, slow in and slow out. L2 | CO4
A Er_}umerate the difference between inferential and descriptive statistics. L2 | CO4
In an optical fiber experiment, the light passing through the fiber, made a L3 | COS
spot diameter of 8mm on the screen. The distance between the end of the
optical fiber cable and the screen.is 0.031m. Calculate the angle of
acceptance and numerical aperture of given optical fiber.
, OR

Q.10 Describe Jumping and parts of Jump. L2 | cO4
Discuss the salient features of Normal distribution using Bell curves. L2 | CO4
While animating.speeding up car animation, the total distance covered over L3 | CO4

6 frames is 25m. Calculate the base distance.

do% ok ok %
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First/Second Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024
Applied Chemistry for Civil Engineering Stream

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE Jull question ﬁ'am each module.
2. VTU Formula Hand Book is permitted. -
3. M : Marks, L: Bloom’s level , C: Course outcomes.
Module—l / M| L &
Q.1 | a. | What is Glass? Describe the preparation of Soda Lime Glass. 07 | L2 | COl
b. | Explain the various steps involved in the manufacture of cement by wet | 06 | L2 | CO1
process with a flow chart.
c. | Define Refractories. erte the properties and apphcatlons of refractory | 07 | L3 | CO1
materials. ) v
: OR >
Q.2 |a. | What is Cement? lllustrate the process of settmg and hardening of cement | 07 | L3 | CO1
with chemical reactions.
b. | Define alloys. Write the properties and applications of [ron and its alloys. 07| L3 | CO1
c. | Write a note on additives used in the manufacture of cement. 06 | L3 | CO1
' Module 2
Q.3 | a. | Illustrate the construction and working of Methanol - Oxygen fuel cell. 06 | L4 | CO2
b. | Define corrosion. Descrlbe the electrochemical corrosion of steel in{07|L2|CO2
concrete. ‘ y :
c. | What is anodizing? Explam anodlzmg of aluminium. Mentlon its | 07 | L2 | CO2
applications.
A\ OR. ©. e\ N
Q.4 | a. | Define PV cell. Tllustrate the construction and working of Photovoltaic | 07 | L3 | CO2
Cell. -
b. | Explain differential metal and aeration corrosion with sunable examples. 07 | L2 | CO2
c. | Explain‘how material selection and design can prevent:corrosion. 06 | L2 | CO2
. "Module-3 ~
Q.5 [a. | 100 ml of a water sample required 20ml of 0.01' M EDTA for the titration | 07 | L3 | CO3
with Erichrome Black-Tindicator, 100 ml of the same water sample after
boiling and filtering required 10 ml of 0.01 M EDTA. Calculate (i) Total
hardness (ii) Permanent Hardness (iii) Temporary Hardness of the sample.
b. | With a neat. labeled diagram illustrate the softening of hard water by ion | 07 | L3 | CO3
exchange method.
¢. | Explain the following size dependent properties of nanomaterials: 06 | L2 | CO3
(i) Catalytic property (i1) Surface area
OR
Q.6 | a. | What is desalination? Explain desalination of brackish water by forward | 07 | L2 | CO3
0SMOSIs.
b. | Define Nanomaterials. Demonstrate the synthesis of Nanomaterials by | 07 | L3 | CO3
Sol-gel method.
¢. | Write a note on use of metal-oxide nano particles in the treatment of water. | 06 | L3 | CO3
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Module — 4
Q.7 | a. | Calculate the number average molecular mass (M,) and weight average 06| L3 | CO4
molecular mass (My) of a polymer in which 30% molecules have a
molecular mass 20,000 ; 40% have 30,000 and the rest have 60,000.
\ \b. \ Define Fibers. Explain the synthesis, properties and applications of Nylon | 07 L2 | CO4
Fibers.
¢. | Define Polymer Composites. Write the properties and applications of Fiber | 07 | L3 | CO4
Reinforced Polymer (FRP) and Geo-Polymer Concrete (GPC).
| OR"
F).S a. | Explain the synthesis, properties . and applications of Chloropolyvinyl | 06 | L2 | CO4
chloride. —
( b. | Define Biodegradable Polymer. Explain the steps involved in the | 07 L2 | CO4
preparation of polylactic acid and mention the applications.
c. | What are adhesives? Explain the synthesis, properties and applications of | 07 | L2 | CO4
epoxy resin. p
Module — 5
Q.9 |a. | State Phase Rule. Explain the terms involved in the phase rule with | 07 | L2 CcO5
examples. . '
b. | With the help of 2 neat phase diagram, explain the Lead-Silver system. 07| L2 | CO5
c. | Describe the determination of pH of soil sample using pH sensors. 06 | L2 | COS
. OR :
Q.10 | a. | State and explain phase rule for two component systefm. Mention the use of | 06 | L2 | COS
phase diagram. \ % Mo e
b. | Illustrate the principle and instrumentation of conductometric sensors. 07 [ L2 | COS5
c. 07| L2 | CO5

Explain the applications of potentiometric sensors in the estimation of iron.

k %k % ko
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First/Sccond Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024

Time: 3 hrs.

Chemistry for EEE Stream

Max. Marks:

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom’s level , C: Course outcomes.

100

Module -1 M| L C
Q.1 | a. | Explain the band diagrams for conductors and insulators. 7 | L2 | COl
b. | Describe the production ofl electronic grade silicon from quartz by| 7 | L2 | COl
Czochrolski method. ‘
c¢. | Explain the preparation, properties and commercial applications of | 6 | L2 | CO1
graphene oxide. : ),
; OR :
Q.2 | a. | What are conducting polymers? Explain the mechanism of polyacetylene. 7 | L2 | CO1
b. | What is electroless-plating? Describe electroless plating of copper in the | 7 | L2 | CO1
manufacture of double-sided PCB. '
c. | In a polymer sample 20% of molecules have molecular mass 15000 g/mol. | 6 | L3 | CO1
45% molecules have molecular mass 25000 g/mol remaining molecules
have molecular mass 27,000 g/mol. Calculate number average and weight
average molecular weight of the polymer. /
Module — 2
Q.3 | a. | What are batteries? Explain the classification of‘ batteries with surtable 7 | L2 | CO2
examples. ' :
b. | What are photovoltalc cells? Describe the constructlon and. workmg ofa| 7 | L2 | CO2
photovoltaic cell. ™ = & .\ B
c. | Explain the construction and workmg of 11 -polymer battery Mentlon its| 6 | L2 | CO2
applications. $
OR R
Q.4 | a. | Explain the construction and worklng of vanadlum rcdox flow battery. | 7 | L2 | CO2
Mention its applications. :
b. | What are fuel cells? Explain the construction and working of methanol- | 7 | L2 | CO2
oxygen fuel cell. Mention its applications. -
c. | Explain the construction and working of Na-ion battery. 6 | L2 | CO2
Module -3
Q.5 [a. | What is metallic’ corrosion? Explain the electrochemical theory of | 7 | L2 | CO3
corrosion, taking iron as an example.
b. | What is corrosion penetration rate? Calculate the CRR in both MPY and | 7 | L3 | CO3
MMPY for a thick steel sheet of area 100 inch?, \\thh experience a weight
loss of 485 g afier one year (density of steel 7.9 plem’).
c. | Describe the extraction of copper and gold from E-waste. 6 | L2 | CO3
OR
Q.6 | a. | Write notes on: 7 | L2 | CO3
(i)  Differential metal corrosion
(i)  Differential aeration corrosion
Explain the sacrificial anode method for the corrosion control. 6 | L2 | CO3
What is e-waste? Describe the effects of e-waste on environment and | 7 | L2 | CO3

human health.
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Module - 4
Q.7 | a. | What are nanomaterials? Explain the any two size dependent properties of | 7 | L2 CO4
nanomatcrials.
b. | What are pervoskite matcrials? Mention the properties and applications of | 7 | L2 | CO4
perovskite materials in opto electronic devices.
¢. | Describe the synthesis of nanomaterials by co-precipitation method. 6 | L2 | CO4
OR
Q.8 [ a. | Explain the synthesis of nanomaterials by sol-gel method. 7 | L2 | CO4
b. | What are QLED’s? Mention its propertics and applications. 6 | L2 | CO4
¢. | Write notes on: (i) Nanophotonics _ (ii) Nanoscnsors 7 | L2 | CO4
Module - §
Q.9 |a.| What are reference electrode? Explam the construction.and working of | 7 | L2 | COS
calomel electrode. :
b. E\plam the principle, instrumentation and appllcatlons of potentiometric | 7 | L3 | COS
sensor in the estimation of iron.
¢. | The emf a cell AU/AgNO3(o oo|m)//AgNO3(xm)/Ag is 0 059 V at 25°C find 6 L3 | CO5
the value of ‘X".
5 OR
Q.10 | a. | What are ion.selective electrodes? Explain.the construction and working | 7 | L2 | COS
principle of glass electrode.
b. | Explain the:principle and mstrumentatlon colorimetric sensor, mention its | 7 | L3 | COS
applications.
c. | Explain how the strength of a weak acid determined usmg a conductometric | 6 | L2 | COS

sensor.

* %k k %k %k
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First/Second Semester B.E./B. Tech. Degree Examination, Dec.2023/Jan.2024
Applied Chemistry for CSE Stream

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom’s level , C; Conrse outcomes.

Module -1 M| L C

Q.1 | a. | Explain the working principlc of conductometric sensors and mention any | 06 | L2 | CO2
two applications.

b. | Discuss the construction and wmklng of Li-ion battcrles Mention its | 07 | L2 | CO4
applications. \

c. | Describe the application ofElccnochcmlcal gas sensors for the detection of | 07 | L3 | CO3
SO.and NO.. ,

OR

Q.2 | a. | Explain the working principle of an Electrochemical sensor in the detection | 06 | L2 | CO2
of Dissolved Oxygen (DO). '

b. | Discuss the construction and working of Quantum Dot Sensitized Solar | 07 | L2 | CO4
Cells (QDSSCs). Mention its applications.

c. | Describe the use of dlsposable sensor in the detectlon of herbicide | 07 | L3 | CO3

Glyphosate.
Module 2 /Y 5
Q.3 | a. | What are memory devices? Explain the claSSIficatlon of Electronic'memory | 07 | L1 | CO1
devices with examples. s L2
b. | What are nanomaterials? Explain any four:properties of polythlophenes 07 | L1 | CO1
(PsHT) suitable for optoelectronic devices. - e \ N L2 | CO4
c. | Mention any three properties and applications of QLED. 06 | L1 | CO4
OR

Q.4 | a. | Explain the types of organic memory. Devices by takmg p-type and n-type | 07 | L2 | CO2
semiconductor materials.

b. | What are photoactive and clectroactive materials and explain their working | 07 | L2 | CO1

principle in the display system. Cco2
c. | Mention any 3 properties and applications of‘ LC-displays. 06 | L1 | CO4
Module -3

Q.5 | a. | Define metallic corrosion. Describe the electrochemical theory of corrosion | 07 | L1 | CO1
taking. \ L2 | CO2

Describe galvanizing and mention its applications. 06 | L2 | CO4

c. | What is CPR? A thick brass sheet of area 400 inches exposed to moist air. | 07 | L2 | CO1

Afier 2 years of period. It was found to experience a weight loss of 375 g CO3

due to corrosion. If the density of brass is 8.73 g/cms, calculate CPR in
mpy and mmpy.

OR
Q.6 | a. | Explain the construction and working of the Calomel electrode, 07 | L2 | CO2
b. | Explain the application of conductometric electrodes in the estimation ofa | 06 | L2 | CO4
weak acid.
¢. | Define concentration cell. Derive an expression for emf of the cell. 07| L1 | CO1

L2 | CO3
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Module - 4
Q.7 | a.| A polydisperse sample of polystyrenc is prepared. by’ mixing three | 07 | L2 | CO3
monodisperse samples in the following proportions.
1 g of 10000 molecular weight. 2 g of 50000 mol. wt'and 2 g of 100000
mol.wt, Determine the number and weight average mol. wt.
b. | What is Green fucel (hydrogen fuel)? Mention the advantages of Green fuel. | 06 | L1 | CO1
c. | Explain the construction and working of Photovoltaic cells. 07 | L2 | CO2
OR
Q.8 | a. | Discuss the conduction mechanism in:polyacetylene through oxidative or | 07 | L3 | CO2
reductive doping techniques (Any one).
b. | Explain the generation of hydrogen by alkaline water electrolysis. 07 | L2 | CO4
c. | Explain the preparation, properties and applications of Kevlar 06 | L2 | CO4
Module - §
Q.9 | a. | What is e-waste? Explain the need for e-waste management. 07 | L2 | CO1
b. | Explain the process of recyclmo e-waste. 06| L2 | COS
c. | Discuss the following : - 07 | L3 | CO5
(i) Pyrometallurgy™” (ii) Hydrometallurgy
OR .
Q.10 | a. | Explain the extraction of gold from e-waste. 07 | L2 | CO2
b. | Write a brief note on the role of stakeholders for example: Producers, | 07 | L3 | CO3
Consumers, Statutory bodies. '
c. | Explain the health hazards due to‘exposure to e-waste. 06 | L2 | CO3

* Kk Kk K K
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First Semester B.E/B.Tech. Degree Exammatmn, Dec.2023/Jan.2024
Mathematics - | for EEE Stream
Time: 3 hrs. (i, Max. Marks: 100

Note: 1. Answer any FIVE full questions, chaasing ONE full questton from each module.
N 2. VTU Formula Hand Book is permitted, Ay
3. M : Marks , L: Bloom’s level , C: Course outcontes.

(x,y,2)

‘Module -1 M| L C
1 : . ¢y do 6 | L2 | COl
a. | With usual notations prove that tan ¢ = r-d— '
e IN r
b. | Find the angle of mtcrsectlon for the pair of curve r = a(l + sin 0),| 7 | L2 | COl
r=>b(l —sin 9)
‘ R P T 33 7 | L2 | COl
c. | Find the radius of curvature of the curve X” +y~ = 3xy at =5 )"
~OR~
. & 0 &%l ,f0) . 8 | L2 |CO1
2 | a. | Prove that the pair of curves r=asec ) ‘r'=bcosec 5 _intersect
orthogronally. T
b. | Find the Pedal equation of the curve r“k=a”‘c'dsr19. A 7 | L2 | COl
c. | Using modern mathematlcal tool wrlte a program/code to plot sine and cosine | 5 | L3 | CO5
curves.
.. Module—2
3 | a. | Expand log(secx)up to the'term containing ‘x-ﬁiusing Maclaurin’s series. 6 | L2 | COl
=y, T 7 | L2]col
b. lfu=1an"(l)wherc x=¢-¢" andy=,e‘+e Fmdﬂ
X % & dt
<M (g ¥ oy 7 | L3 | COl1
u=x+3y’-7
v=4x’yz
w =277 - Xy ‘
Find S0 21,0),
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o OR
. 7 | L2 | CO1
4 | a. | Evaluate :
AR 4
o |t +Db
N lm‘]n( 2 )
i) lim\(sin )",
N
I u= ) that du B au'+ ou 0 A 8 | L2 COIl
=y -z, z-x,x-y) prove that —+-—+—=0,
b. u=fly -z, 2= X, X = y) prove e oy o
¢. | Using modern mathematical tool write a program/ code to evaluate : 5 | L3 | CO5
lim[l +—l-} .
N =0 N
Module - 3 l
' r Yloe x 6 | L2]|CO2
5 | a. | Solve: £i)—+:’.L;—-2~—-l£)§i.
dx x W X
b. | Find the orthogonal trajectories of the family of Asteroid X7 +y% Y 7 | L3 | CO2
c. | Solve : p’ +2xp” —y"p’ — 2xy’p = 0. 7 | L2 | CO2
OR
6 | a. | Solve:y(x+y+ Ddx +x(x+3y+2)dy=0. . « 6 | L2 | CO2
b. | Show that a DE for the current i in'j‘én‘electric circuit” containing an| 7 | L3 | CO2
inductance L and resistance R in series and acted by an electromotive force
Esinwt satisfies. the equation : LS—;-E Ri=Esinwt. Find the value of the
current at any time t, if initially there-is no current in ihe pircuit.
¢. | Modify the equation into Clairaut’s form. Hence find the general and singular | 7 | L2 | CO2
solution of xp“ — py + kp+ a= 0. .,
Module - 4
Lzxiz 6 | L2 [ CO3
7 | a. | Evaluate : _” I(x+y+z)dydxdz.\‘ )
-1 0x-2z
9 Ll-x3 7 | L2 | CO3
b. | Evaluate by changing the order of integration : _[ jyzdxc{y.
0 0
c. | Prove that B(m,n)éw. 7 |12 CO3
I'im+n)
20f3
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OR

Evaluate :

2

a’-y?

J‘ ymdxdy by Changlng lnto POlar form Vi 2k
O 4

[ B—

6 | L2

CO3

Find the arca bounded between the parabolas yz ="4ax and X~ = 4ay using
double integration.

7 | L3

CO3

Prove that Idsm deIJ_
sin 0

7 | L2

CO3

_ Module -5

Find the Rank of the Matrix :
1 0 2 =2

2 -1 0 -1
10 2 1| ¢
4 -1 3 -1}

6 | L2

CO4

Solve the system of equations by Gauss — Elimination method.

2x+y+z=10

3x+2y+3z=18
x+4y+9z=16.

7 | L3

CO4

Using Gauss — Seidel iterative method to solve : . 7 £ %
S5x+2y+ z=12 \ S
x+4y+2z=15
x+2y+5z2=20 , { e '
Carryout 4 1teratlons, takmg the mmal approx1mat10n to* the solution as
(1,0, 3). ’ .

7 | L3

CO4

~OR

10

Find the-Rahk of the matrix : . V% \ J
4.0 2 ‘ ‘

1
2173 4
2.3 4 7|
2 31 4

7 | L2

CO4

\

Solve by Gauss ~ Jordan method i\ .
2x+y+3z=1 ‘
4x+4y+7z—1

2x + 5y +9z=3. A

7 | L3

CO4

Using modern mathematical tool write a program/code to test the consistency
of the equations : -

x+2y—-z=1
2x+y+dz=2

6 | L3

CO5

3x+3y+dz=1.
* %k ok k k
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First Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024

Time: 3

Mathematics - | for ME Stream

hrs. Ry, Max. Marks:

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. VTU Formula Hand Book is permitted,
3. M : Marks , L: Bloom’s level , C: Course outcomes.

100

Module' =1 M| L C
Q.1 | a. | Prove that with usual notations . |¢ 06 | L1 | CO1
1oL (arsoy
p° r°r
b. | Find the pedal equation ™ = a™ cos m0 ! 07 | L2 | CO1
c. | Find the radius of curvature of the curve x* + y" =2 atthe point (1, 1). 07 | L3 | CO1
' OR
Q.2 | a. | Derive the radius ofcurvature in Cartesian: form as 08| L1 | CO1
127N
1+
(2% 8 &
y2 X ,:-7 >, ¢
& 3 2 .\.\. >
b. | Show that for the curve r = a(l — cos 9) is £ = constant 08 | L3 | COl
r g
c. Usmg modern mathematlcal tool write a program/code to plot the sine and 04 | L3 | CO5
cosine curve. Aom) Ry P
Module -2
Q.3 | a. | Expand e by Maclaurin’s series upto the te’rm,containing X", A 06| L2 | CO2
b. Ll v 7| L2 2
Ifu=fix— y,y z,2— x) showthat—a—u+@+-@—-0 ' 0 ca
ax oy oz
c. | Find the extreme values of f(x,y) n=,4x +y —3x-— 12\yj—\20 07 | L3 | CO2
' ' _“ 1»0R i
Q.4 a. £ lim ax +b)i +‘Cx A 7% & 08| L2 | CO2
Evaluate — 1= AR
& R X—)O 3 L . \
b. Ifu=x2+y2+zz,v'=‘xy+yz+zx,w=_Ax+y+z 08| L3 | CO2
fing 2WU.Vv.W) e &
o(x,y,7) P
¢. | Using modern mathematical tool write a program/code to evaluate 04| L3 | COS
lim * :
I+
X — O( A ) ;
Module -3
Q.5 |a. | Solve gl—ylanx= y’ secx 06| L2 | CO3
X \ 9
b. | Solve (x> +y + x)dx + xy-dy =0 07 | L3 | CO3
c. | Water at temperature 10°C takes 5 minutes to warm up to 20°C at room | 07 | L2 | CO3
temperature of 40°. Find the temperature of the water after 20 minutes.
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OR
: 06| L2 | CO3
Q6 a. | Solve L N
dx dy y x
b. | Find the orthogonal trajectorics o[‘card:o id r=a(l'=cos 0) 07| L2 | CO3
c. | Find the general solution of xp” +xp-yp+t1=0- 07 | L3 | CO3
Module -4 -

Q.7 |a. | Solve (4D"—8D° 7D+ llD +6)y =0 06 | L2 | CO4
b. | Solve (D?—4)y = cos 2x + &> 07 | L2 | CO4
¢. | Solve (D* + 1)y = sec x_by the method of variation ofparameter. 07 | L3 | CO4

OR:
Q.8 [a. | Solve (D3 +1)y=3 + 5¢* ‘ 06 | L2 | CO4
b. | Solve (D°+D)y=x+2x+4 | > 07 | L2 | CO4
L dly dy 07 | L3 | CO4
¢. | Solve x —5+4x— +2y logx
dx dx
- Module - 5
Q.9 4112 4 3 06 | L2 [ CO5
.42 4 6 8
a. | Find the rank of,
\ 1 2 3 4]
b. | Using Gauss Jordan method, solve 07| L2 | CO5
X +2y+z—8, 2x+3y+4z=20, 4x+3y+2z— 16
¢. | Find the largest eigen value and the corresponding eigen vectorof .- 07 | L3 | CO5
2 -1 0 ‘ '
-1 2 -1
0 -1 2]« g A
with initial apprdﬁihﬁate eigen vector (1, "0 0)". Carry out 4 jterations.
: OR :
Q.10 [ a. | Investigate for what values of A and p, so that the equanons x+y+z=6,[07|L2|COS
x+2y #3z=10, x+2y+Az=p gave (i) no'solution (i) a unique
solution and (iii) an infinite nnumber of solutions.
b. | Solve the system of equations using Gauss- Sledel method by taking (0,0,0) [ 08 | L3 | COS
a$ an initial approximate root.
X% 2y+z= 12 x+4y+2z— 15, x+2y+52-20 Carry out 4
iterations.
¢. | Using modern_mathematical tool write.a program/code to find the largest | 05 | L3 | COS
g 1 1 3
eigen valueof A=|1 5 1| bypower method.
31,1

* ok ok kK
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First Semester B.E./B. Tech. Degree Examination, Dee.2023/Jan.2024

Mathematics - I for Civil Engineering Stream

Time: 3 hrs. | Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloow's level , C: Course oufcomes,
3. VU formula handbook is permitted.
Module ~ 1 : M| L C
Q.1 | a. | Withusual notations prove that 6 | L2 | COl
111 (dr Jz
5 ==gt=z|lo=i
p o r\do
b. | Find the angle between ‘the radius vector and “tangent to the curve |7 | L2 | CO1
r=a(l+cos 0)at 6= %
¢. | Find the radius of curvature of the curve y =4 sinx —sin2x at x = % 7 | L2 | COl
\ L OR .
Q.2 | a. | Find the pedal equation of the curve r*cos n 0 = a". " 8 | L2 | COl
b. | Find the radius of curvature of the curve r = a(1-cos 8). S |7 | L2 | CO1
A . W e \
¢. | Using modern mathematical tool write o/programme to plot the curve |5 | L2 | CO1
r=2(cos206). . £ o
Module — 2 :
Q3 | a. | Expand /1+sin2x using Maclaurin’s series upto the term containing x*. 6 | L2 | CO2
Y 5% 92\ . 7 | L2 | CO2
b. | If Z = f(x + ct) + g(x — ct) prove that — =c*—.
fix + ct) + g( )p € 7 C o
¢. | Show that f(x, y) = x> + y3 - 3x - 12){ + 2_70 has a maximum value at the | 7 | L3 | CO2
point (-1, -2) and minimum value at the point (1, 2).
OR
Q4 |a. |IfU=1(2x-3y,3y-4z ,4z-2x) then prove that 8 | L2 | CO2
1 du . Tou '1du
20x 30y 40z
b. lfu=x2+y2+zz,v=xy+yz+zx,w=x+y+z,l-‘ind 7 | L2 | CO2
o(u,v,w)
3(x,y,2)
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c. Using' modern _mathematical tool, write a programme  to evaluate | 5 | L3 | COS
: lim(1+ 0% V¥
i Module -3
: d 6 | L2 | CO3
Q.5 |a.|Solve:tany d—y+tanx—cosycos X.
b. | Find the orthogonal trajectories ofthe famlly of curves r = 2a cos O where | 7 | L3 | CO3
‘a’ is a parameter.
c. | Solve p+p(x+y)+xy=0. 7 | L2 | CO3
.Y OR
Q.6 |a.|Solve(x"+y +bx) dx"ﬂ*{(y2 dy=0. 6 | L2 | CO3
b. | Water at temperature:10° C takes 5 minutes to warm ubto 20°Cinaroom |7 | L2 | CO3
temperature of 40° C Find the temperature of the water after 20 minutes.
c. | Solve (px~< y) (E;y + X) = 2p by reducmg into Clairaut’s form taking | 7 | L3 | CO3
substltutlon X =x"and Y= P
E Module — 4
d? ) == 6 | L2 | CO3
Q.7 | a. | Solve d—);er—)z’+4d—y+4y=0
dx’ dx dx
b. | Solve (D -2)" y = 2(e™*+sin 2x). 7 | L2 | CO3
2 i 7 | L2 | CO3
c. | Solve x* :d y dy+8y Zlogx
. \_‘ dx .
y OR
Ay, i 6 | L2 | CO3
Q8 |a. Solve_--(—j—);,+y=x2+2x+4.
dx e
b. Usihg method of variation of parameters « - 7 | L2 | CO3
Solve —= +y =secxy
dx? y R ¥
d?y 7 | L2 | CO3
c. Solve(l+2x) 6(1+2x) +16y 8(1+2)x.
“\_%. Module -5
Q.9 | a. | Find the rank of the matrix: ~ 6 | L2 | CO4
21 22 23 24
22 23 24 454,
23 24 25 26|
24 25 26 27
g 2 of 3
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b. | Test for consistency and solve the following system of cquauons 7 | L2 | CO4
X+2y+3z=1, 2x+3y+8z=2 , x+y+z= 3
¢. | Solve the following system of equations using GaussAJordan method : 7 | L3 | CO4
Xty+z=9 , 2x+ty-z=0 , 2x+5y+7z=52.
OR .. v {
Q.10 | a, | Find he rank of the matrix ) 2 6 | L2 | CO4
-2 -1 -3 -1
12 3 - e
I aN)
0 1 _ l _1 r,. ,' > s
b. | Use Gauss - Seidel Iteratxon method to solve the system of equations 7 | L3 [ CO4
Sx+2y+z=12 ,_71 X+dy+2z=15 |, x+2y+52—20 (upto 3
iterations). ) N 4
¢. | Using modern mathemanca] tool, write'a-programme to find the largest [ 7 | L3 [ CO5
eigen vector if
6y, -2 2
A=|=2" 3 1|, \
2 -1 3
u A
\ Q"
* ok ok ok ok
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First Semester B.E./B.Tech. Degree Examination, Nov./Dec.

Introduction to Cyber Security
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2023

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
Module — 1 M| L C
Q.1 | a. [ List and explain the different types of cyber criminals. 6 | L1 | COl
b. | Ilustrate how a cyber-crime effects on individuals. 7 | L2 ]| COI1
c. | Explain cyber crime against property. 7 | L2 | COI
- — e — OR —
Q.2 | a. | Most of the cyber criminals prefer cyber cafes to carry out their activities. | 7 | L2 | CO2
Justify.
b. | Explain how cyber criminals plan for society. 7 | L2 | CO2
c. | Define the following: 6 | L1 |CO2
(i) Hacker (ii) Brute force hacking (iii) Cracker
Module - 2
Q.3 | a. | Explain the following with an example: 15| L2 | COIl
(i) Phishing (ii) Spear phishing (iii) Smishing
(iv) Email spoofing (v) Spamming
b. | What is Botnet? List the different types of Botnets. 5 | L1 | COl
i . OR
Q.4 [ a. | With an example, explain active attackers and passive attackers. 7 | L2 | CO2
b. | Explain how criminals plan for the crime. 7 [ L2 )| CO2
¢. | Define the following: 6 | L1|COo2
(i) Malware (ii) Adware (iii) DDOS
Module —3
Q.5 | a. | What are Trojan horses? Describe working behaviour of Trojan horses ina| 7 | L1 | CO3
personal computer. ~
b. | Write a short note on software key loggers and hardware key loggers. 7 | L1 | CO3
c. | List and explain different types of viruses in a computer. 6 | L2 Cco3
OR
Q.6 | a. | Mention the password guidelines to secure our account while dealing with | 8 | L3 | CO3
financial account and email account.
b. | What is steganography and stegnalysis? Explain. 6 | L2 | CO3
¢. | List and explain the different types of DOS attacks. 6 | L2 | CO3
Module — 4
Q.7 | a. | What is identity thefi? Explain with a suitable example. 10] L1 | CO4
b. | How to prevent being a victim of ID thefi? 10 L2 | co4

OR
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Q.8 | a. | Whatare the different techniques of 1D theft? 6 | L1 | CO4
s [ E \|)I_1_|_|_1_hﬂm an based 1D theft and computer based 1D theft techniques. | 6 | 1.2 | CO4
c. | What is spy phishing? Explain the counter measures of phmhmg 8§ | L2 | CO4
Module -
Q.9 | a. | Explain some of the best practices in handling digital evidence. 7 1 L2 CO5
b. | Explain how the chain of custody concept applies in a computer/digital | 7 | L2 | COS
forensics.
¢. | What would be the nature of evidence collected for a network forensics? 6 | L1 | CO5
OR
Q.10 | a. | Explain the importance of strong documentation in cyber forensics | 6 | L2 | CO5
profession.
b. | Mention the differences between digital forensics and computer forensics. 6 | L2 | COS5
c. | What are the various phases and activities involved in the life cycle of a| 8 | L1 | COS
forensics investigation process?
E I N 3
,
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First Semester B.E./B.Tech. Degrece Examination,‘Dcc.-2023/Jan.2024

Time:

Introduction to Cyber Security

3 hrs. Max. Marks: 100

f > NIV A} v > ' r . H
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.

Module =1 M| L C
Q.1 |a. ]?cﬁnc the following terms : ~ 10 L1 | Col
i) Cyber space \ n
1) Cyber squatting
it1) Cyber punk
iv) Cyber warfare
v) Cyber terrorism
b. | Discuss the various classifications of cyber crimes. . 10| L2 | COl
OR
Q.2 |a.| Who are cyber criminals? Discuss -in detail the various lypes of cyber | 10 | L2 | COl
criminals., -
b. | Explain the various classifications of cyber crimes. % 10| L2 | COl
Module -2 4 AT, -
Q.3 | a. | Explain the phases involved in planning a cyber crime. 10 | L2 | COl
b. | What is cyber stalking? Explain in detail how cyber stalking works. 10 | L2 | CO1
OR .
Q.4 | a. | Differentiate between active attacks and passive attacks. 10 | L3 | CO1
b. | What are botnets? Explain how bélnets can be used for gainful purposes. 10| L2 | CO1
Module =3
Q.5 | a. | Explain the various stages of a Network attack. 10| L2 | CO2
b. | Define the following terms : 10 | L2 | CO2
i) Proxy servers and /\nonymucrs
ii) Phising
iii) Keyloggers and spywares
iv) Virus and worms ‘
v) Trojans and backdoor virus
OR
Q.6 | a. | Explain the typcs of computer viruses. 10| L2 | CO2
b. | Explain the types of DOS attacks. 10| L2 | CO2

| of 2
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i) Chain of custody
i) Digital forensic science.

Q.7 |a. l Whal P Module - 4
atis Phising ? Explain the various phising techniques. 10| L2 | CO3
b. | Explain the types of phising scams 10| L2 | CO3

Qs 1. — : OR
& -5 | a. | What is identity theR? Explain the types of identity theft. 10| L2 | CO3
b. | Discuss the techniques of identity theft. 10| L2 | CO3
i Module - § a ‘
Q.9 | a. | What is digital Forensics? Explain the roles and typical scenarios involved | 10 | L2 | CO4
in digital forensics.
b. | With a aid of diagram, explain the digital forensicslifecycle. 10| L2 | CO4
- R OR ,

Q.10 | a. | Discuss the various methods for Extracting forensic evidence. 10 | L2 | CO4
b. | Write short notes on : 10 | L2 | CO4

"k ok Rk
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First Semester B.E./B.Tcch. Degree Lxamination, Dec.2023/Jan.2024
Introduction to Civil Engineering

Time: 3 hrs.

Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. M : Marks, L: Bloom’s Ievel , C: Cowrrse outcomes.

Module - | M| L C

Q.1 | a. | Explain briefly the scope of follow i specToation of civil engineering: 08 | L1 | CO1

i) Environmental Engineering :
ii) Structural Engineering
b. | Write the composition of cement. 06 | L1 | COl
c. | What is brick? Write the classes ol bricks. 06| L1 | COl1
OR

Q.2 [ a. | Differentiate Reinforced and Prestressed € oncrcte 08| L1 | CO1
b. | Write a note on Construction Chemicals. 06 | L1 | CO1
¢. | Enumerate StructuralElemems of 1bu1Edm 06 | L1 | COl

; Module —

Q.3 | a. | Discuss on salient points on sustainable dovelonment goals. 08 | L1 | CO2
b. | Write a note on Smart City Concept. : 06 | L1 | CO2
¢. | Describe Solid Waste Management. 06 | L1 | CO2

( :.{ .

Q.4 | a. | Write the key points to be considci ol \\In ‘wtitving the landfills sites. 08 | L1 [ CO2
b. | Explain Refuse, Reuse and Recycle coneepts 06 | L1 | CO2
¢. | Write a note on Energy Efficient buildings 06 | L1 | CO2

/ l\ll)('llll—f
Q.5 | a. | Explain principles ofsuperposmon with a neat sketeh, ‘ 04 | L2 | CO3
b. | Determine the resultant of the system ¢ s shown in the Flg Q5(b) |08 | L3 | CO3
below:
LI
30 2
okt —¥— s :
= 2
// i J . ‘
boks! L !
1ie.Q5(!
c. | Determine the resultant of non ¢ wont ~ostem of forces shown in the | 08 | L3 | CO3
Fig.Q5(c) below:
204! N
30 D
AT 3m 3 o A o
oo ke bye
[Fre O3«
. OR__

Q.6 | a. | State and prove Varignon’s theoro i 04| 1.2 Co3

b. | Discuss resolution and composit i o for. . B 08| L2 | co3
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. e i cting at a point | 08 | L3 | CO3 |

Four forces of magnitude P, 100 . 0 N, ‘_“"‘ 400 N arg ?.ct;nff forc[:: p
as shown in Fig.Q6(c). Deter i nitude and directio
such that the force system is i1 ¢

(o9 ! ’ ’.

a9 —1\; —
&{., t
16(¢)
| -4

Q.7 Derive the centroid of a triangic |+ 1o bas: 'b’ and height *h’ from the | 05 | L2 | CO4

first principles. i ' -
Locate the centroid of the shadc! v showin Fig.Q7(b) with respect to | 08 | L3 | CO4
reference axis. All dimensions u. n.
N
toot 7/ 7
4 ‘
T a— e S
|
. 7 2(b)
Locate the centroid of the sh.. shown in Tig.Q7(c). All dimensions | 07 | L3 | CO4
are in mm.
}“ == %]
E;/‘_‘ / / 3 1‘
e T
. ; ‘.1)
Vigiinz) < 24
I V7 (c
_OR:

Q.8 Derive the centroid of a rectung!. ofbase 'b" and height *h’. 05| L2 | CO4
Determine ‘the ‘centroid of the shidc ' area shown in-the Fig.Q8(b) below. | 08 | L3 | CO4
All dimensions in mm.

% S
¢ Lo 0. 7 / ,'/
Fie 08(b)
Determine the centroid of the shuded wica shown in the Fig.Q8(c). | 07 | L3 | CO4
All dimensions in mm.
Hoy
11
En
] o
—nx
L IN(C)
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Modileay _
Q.9 | a. | State and prove parallel axis theorem, 05| L5 CO?
b. | Derive the moment of inertia ol 2 - melehaving base ‘b’ and height *h” | 05 | L5 | COS
from the first principle. o =
¢. | Find the polar moment of incrtic o1 the pline lamina shown in Fig.Q9(c) | 10 | L5 | COS
about the point *O’ [Ioy].
- 23
115 omm
|
=] SR
Note : Radius of cire - is 20mm.
10 09(¢
Q.10 | a. | Derive Moment of Inertia of a circ' ront ?i;arinciple. 05| L5 | COs
b. | Define the terms 05| LS| CO5
i) Moment of [nertia __ii) Radiu of G ;
¢. | Compute the MI of the arca shown in 10(c) about the axis AB. |10 | L5 | CO5
All dimensions are in mm only. Radivus of - -le is 20mm.
. 1 Ry
go|3 X\
P
P‘i “f'f i’ —r
L 3 O
£
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First Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024

Introduction to Mechanical Engineering

Time: 3 hrs. « Max. Marks: 100
Note: 1. Answer an ¥ FIVE full questions, clmosil.rg ONE full question from each module.
2. M : Marks » L: Bloom’s level , C: Course outcomes.
M| L C
— Module -1
Q.1 | a. | Explain the role of mechanical engineering in society. 10| L2 | COl
[ b. | Explain the emerging trends and technologies in the following sectors. 10| L2 | CO1
1) Manufacturing sector if) Automotive sector ’
iil) Aerospace sector iv) Marine sector.
OR \ "%
Q2 | a. | Witha neat sketch, explain the working principle of Hydel power plant. 10| L2 | CO1
b. | Write short notes on : 10 | L2 | CO1
i) Fossil fuels "ii) Bio-fuels.
: Module' -2
Q.3 |a. | What Jslathe? With neat sketch explain the working principle of lathe | 6 | L2 | CO2
machine. W N2
b. | With neat sketches, explain the following lathe operations. 8 | L2 | CO2
i) Turning operation i) Knurling operation.
c. l Differentiate between up milling and down milling. 6 | L2 | CO2
v OR
Q4 |a ’ What is CNC? With neat sketches, explain the basic components of CNC. 8 | L2 | CO2
! .
b. } List the advantages and disadvantages of CNC. 6 | L1|CO2
c. | List the advantages and disadvantages of 3D printing. 6 | L2 | CO2
Module -3
Q.5 | a. | Witha neat sketch, explain the components of I.C engine. 10| L2 | CO3
b. | With a neat sketch explain the \\‘6rking principle of 4-stroke petrol engine | 10 | L2 | CO3
along with PV diagram. -
OR
Q.6 | a. | What is an electric vehicle? Briefly explain the components of an electric | 10 | L2 | CO3
E vehicle.
b. State the advantages and disadvantages of EVs and hybrid vehicles. 10| L2 | CO3
é
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Module - 4

Q.7 [a.| Write the composition, propertics and applications of the following | 10| L2 | CO4
materials. Lrm®
i) Castiron i) High carbon steel i) Alluminium  iv) Copper.
b. | Write short notes on : i) Polymers i) Shape memory alloys. 10} L2 | CO3
OR : W
Q.8 |a. | What is Welding? With a ncat sketch, explain the working principle of | 10 | L2 | CO4
Electric Arc Welding,
b. | With neat sketches, explain 3 types of flames used in gas welding process. | 5 | L2 | CO4
c. | List the applications of welding. 5 | L2 | CO4
Module -5
Q.9 | a. | With the help of block diagram, explain open loop and closed-loop control | 10 | L2 | CO5
systems. ‘
b. | With neat sketches, explain four basic robot configurations. 10| L2 [ COS5
“OR ,
Q.10 | a. | What is Automation? Explain 3 types of automation. 10| L2 | CO5
b. | Briefly explain characteristics of 1.O.T. 10| L2 | CO5

fokidk k)
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First Semester B.E./B.Tech. Degree Examination, Jan./Feb. 2023

Principles of Programming using C

Time: 3 hs, . Max, Marks: 100
Note: 1. Answer any FIVE JSull questions, choosing ONE full question fr om each module.
2. VTU Formula Hand Book is permitted,
3. M : Marks , L: Bloon’s level , C: Course outcomes.
: Module — 1 M| L C’
Q.1 |a Explain the organization of Basic computer model with neat diagram. 8 | L1 |CO2
b. | Explain Input/Output statement in C, 8 | L1 | CO2
¢. | List and explain any two input-output devices. 4 | L1 | CO2
OR
Q.2 | a. | What are the basic datatypes available in C? 6 | L2 | CO2
b. | Define variable. Explain the rules to declare a variable with example. 6 |L2 | CO2
[ c. | With suitable example — Explain the basic structure of C program. 8 |L2 | CO2
‘ Module -2
Q3 | a. | What is type casting? Explain its types with suitable example. 6 | L2 | CO2
b. | Write a C program to_find the largest of three numbers using ternary | 6 | L3 | CO2
operator,
¢. | List and explain unconditional branching statements with example. 8 | L1 | CO2
: OR
Q4 | a. | List the conditional branching statements in ‘C’. Explain any two with | 6 | L1 CO2
example.
b, Write a C B;i)gmm to compute the roots of a quadratic equation by | 6 | L3 coz2
accepting the coefficients print appropriate messages.
¢.| Explain different types of loops in C. Justify with its syntax and example, 8 | L2 |CO2
Module — 3
Q.5 | a. | Define an array, Explain with example. How to declare and initialize 2D- | 6 [ L2 | CO3
array,
b. | Write a C program to search an element using binary search technique (for | 6 L3 | CO3
numericals).
¢. | Write a C program to perform addition of 2-dimensional matrix (consider | 8 | L3 | CO3
3x3 ordered matrices A and B).

OR
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Q.6 | a. | Define function. Iixhl—ii‘i;l"l——hc typ_c of functions based on parameters. 8 | L2 | CO3
1 L , _ o
b. | Write a C program to sort the clements using bubble sort technique by | 6 | L3 | CO4
| passing array as function argument.
R ] nt 6 | L3 | CO3
¢ | Write a C program to find the n. . | ng =———
! " © (n=r)rl
\
Module - 4
Q.7 | a. | Define a string. List the string manipulation functions. Explain any two | 8 | L2 | CO2
| with examples.
b. | Write a C program to find the length of a given string without using built-in | 6 | L3 | CO3
| function.
. c} Rit:;(jﬁ}_ﬁvog—r'uﬁt‘o Eﬂuci( \—x"ﬁéiilélf_flig"givcn strinf;is Palindrome or not | 6 | L3 | CO2
‘ without using built in function.
OR
Q.8 | a. Define Pointer. Explain how the pointer is declared and initialized with | 6 | L2 | CO4
- example. ;
b. | Write a C program using pointers to compute the sum, mean and standard | 8 | L3 | CO4
! deviation of all elements stored in an array of ‘n’ real numbers.
c. | Write a C program to replace each constant in a string with the text one | 6 | L3 | CO3
4 except letter ‘z’, ‘Z’ and ‘a’’A’, for the string “Corona-Virus” should be
} modified as “DpSpoa Wjsvt”.
Module — §
Q.9 | a. | Differentiate between structures and Union. 6 |L2 | CO4
b. | Write a C program to implement structures to read and write Book-Title, | 8 | L3 | CO3
- Book-Author and Book-id of n books.
c. | Write a note on files. 6 | L3 | CO4
OR
Q.10 | a. | List and explain any four file operations in C, 6 |L2 | CO2
b.  Write a C program to store and print name, USN, Subject and IA marks of | 8 | L3 | CO4
' students using structure.
¢. | Write a note on enumerated data type. 6 | L2 | CO4

Rk R KAk
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First Semester B.E./B.Tech. Degree Examinatidn,' Dec.2023/Jan.2024
Introduction to Electronics and Cbmmunication

Time: 3 hrs.

Max. Marks:

Note: 1. Answer any FIVE full questions, clmosir;g ONE Sfull question from each module.

2. M : Marks , L: Bloom’s level , C: Course outcontes.

100

Module—1 M| L C
Q.1 |a. | What is Regulated power supply” Wlth neat block diagram, explam the | 8 | L2 | COl1
individual blocks. ,
b, | What is a rectifier? With neat c1rcu1t diagram and output waveforms, | 8 | L2 [ CO1
explain full wave bridge rectifier with capacitor filter.
¢. | With circuit diagram rbr;ef out the operation of volj[age doubler. 4 | L2 | CO1
. OR ,
Q.2 | a. | Drawthe circuit'diagram of voltage regulator and explain the operation. 7 | L2 | CO1
b. | Explain the: concept of negative feedback amphﬁer with relevant equations | 5 | L2 | CO1
and dlagrams
c. Explam Frequency response ofRC coupled amplifier. 8 | L2 | CO1
Module —2 ;
Q.3 | a. | Explain the Barkhausen criteria for oscillations. In wein bridge oscillatorif | 7 | L3 | CO2
Ci = C; = 200nF - determine the frequency of oscillation“when
R] Rz = 4k, '
b. | With neat circuit” dlagram explam the ‘operation of ladder network | 7 | L2 | CO2
oscillator. :
c. | Explain‘the operatlon of smgle stage Astable multnvnbrator with its circuit | 6 | L2 | CO2
dlagram ¥ gy VO Ao\ I
. ] OR :
Q4 |as LlS'[ out the Ideal charactertstlcs of an op- amp 7 | L2 | CO2
b. | Explain the I"ollowmg wnh respect to operatlonal amplifier, 8 | L2 | CO2
i) Inverting amplifier  ii) Integrator.
¢. | An operational amplifier operating with negative feedback produces an| 5 | L3 | CO2
output voltage of 2V when supplied with an input of 400uV. Determine the
value of closed — loop voltage gain and express the answer in decibels.
Module — 3
Q.5 | a. | Convert the following: 8 | L3 | CO3
i) (FACE)1s =( o i) (65.45)10=( )
i) (111101101101 11101 1) =( ) iv) (2604.10546875)10=( s

1of2



BESCK104C/BESCKC104

Perform the following : 6 | L3 | CO3
i) (1010100),—(1000100), using 2’s compliment. .
i) (4456)10—(34324)0 using 10’s compliment me_thod, 3
State and prove De — Morgan’s theorems with its truth table. 6 | L2 | CO3
OR
Q.6 Implement the Boolean functions using logic gates. 6 | L3 | CO3
HFi=x+yz i) xyz+xyz+ Xy'
Write the step by step procedure to design a combinational circuit., 6 | L2 | CO3
Implement full adder circuit with its truth table and draw the'logic diagram | 8 L3 | CO3
of sum and carry. ; g ‘
Module — 4
Q.7 What is an embedded system? Compare embedded system and General | 7 | L2 | CO4
computing systems. .~
Explain classification of embedded systems, 7 | L2 | CO4
What is the difference between RISC and CISC processors? 6 | L2 | CO4
fon \ - “OR
Q.8 Discuss major application areas of embedded systems with examples. 7 | L2 | CO4
Write short note on : . 6 | L2 | CO4
i) Transducers ii) Sensors iil) Actuators.
Write a short note on7-segment LED display.’ 7 | L2 | CO4
3 Module -5
Q.9 With neat block diagram, explain modern communication system. 8 | L2 | COS5
Write a note on Hard wired channe! and soft wired channel. 6 | L2 | CO5
Explain with a neat diagram, the concept of Radio wave propagationand its | 6 | L2 | COS
‘| different types. R P Ry
4 OR
Q.10 Explain Amplitude Modulation (AM) and Frequency Modulation (FM)| 8 | L2 | CO5
with neat waveforms.
List out the advantages of Digital communication over Analog | 6 | L2 | COS
communication.
Explain different multiple Access Techniques. 6 | L2 | CO5

d % ok Rk Kk
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First Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024

Time: 3 hrs.

Waste Management

Max. Marks:

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. M : Marks , L;: Bloom’s level , C: Course outcomes.

100

Module -1 M| L C
Q.1 |a. | Define Solid Waste. Explain the classification of the same based on| 10| L2 | COl
sources. :
b. | With a ncat flow chart, explain the functional elements of solid waste | 10 | L2 | COI
management system.
OR
Q.2 | a. | Write short notes on ESSWM (Environmentally Sound Solid Waste | 10 | L2 | CO1
Management) and EST (Environment Sound Technology)
b. | Explain the various factors affecting Solid Waste Management. 10 | L2 | COIl
Module -2
Q.3 | a. | Describe the Rationale for analysis for Waste Stream Assessment and steps | 10 | L2 | COl1
involved in Field investigation.
b. | Explain the -various factors causing. variation in waste quantity and | 10 | L2 | COl1
composition of solid wastes.
: . OR
Q.4 | a. | Enumerate the various chemical characteristics of solid wastes. 10| L2 | CO1
b. | Explain the various environmental effects due to inadequate and improper | 10 | L2 | CO1
waste management,
Module -3
Q.5 | a. | Outline the various factors that influence the waste collection system. 10| L2 | CO2
b. | Write short notes on : 10| L2 | CO2
i) Collection vehicle routing
ii) Transfer station
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OR
Q.6 | a. | Explainthe various disposal options of solid wastes. 10| L2 | CO2
b. | Describe the different processes for the feasibility of disposal of solid waste 10| L2 | CO2
through sanitary hand-filling. Y
! Module —4 |
Q.7 | a. | Explain the process of mechanical volume Reduction. , 10| L2 | CO2
b. | List out different components separation techniques used in solid waste | 10 | L1 | CO2
management system and explain any two in detail.
Q.8 | a. | Write anote on Drying and Dewatering operations used in SWM. 10| L2 | CO3
b. | What are the various recycling programmes elements used in SWM and | 10 | L2 | CO3
explain any two? 2
L) Module — 5 -
Q.9 | a. | Describe the various characteristics of Hazardous wastes. - 10| L2 | CO4
b. | Explain the different classification of Hazardous wastes. ) 10| L2 | CO4
OR = = , \
Q.10 | a. | Explain the different treatment methods used for Hazardous wastes. 10| L2 | CO4
b. | Write a note on pollution prevention and waste minimization. 10 | L2 | CO4
* Kk % k % 'i ' 5 :
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Question Paper Version : A

USN

First/Sccond Semester B.E./B.Tech./B.Des. Degree Examination,Dec.2023/Jan.2024
Innovation and Design Thinking ~

Time: 1 hrs.] Y. 2 -+ [Max. Marks: 50
INSTRUCTIONS TO THE CAND]DATES

1. Answer all the fifty questions, each question carries oné mark.

2. Usc only Black ball point pen for writing / darvkenning the circles.

3. For cach qucstlon, after sclecting your answer, darken the appropriate circle
corrcspondmg to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Danlagingfdvenvriting, usingvi‘:\'vl_l,iteners on the "OMR sheets are strictly

prohibited.

1. The stages of the design thinking process in order are  *
a) Understand > Draw > Ideate > Crate > Test. T
b) Empathize > Define > Ideate > Prototype > Test
c¢) Empathize > Design > Implement > Produce > Test

d) Understand > Deﬁne > [deate > Produce >Try =S\
2. The comprehensive prmc:1ple of'des:gn thmkmg does not include
a) Relationship e, b) Collaboranon
¢) Communication o hdid d) Supphers
3. Design Thinking typlcally help in b
a) Innovation ’gb) Data Analysis
“¢) Marketing Management “*d) Operation Management

4. Mr. ABC wants to desngn a new bed that he can sell to nursing homes to use with their
patients. However, Mr. ABC doesn’t want anything to do with older adults or people
with disabilities. Accordmg to the design thinking process, Mr. ABC will face problems

because he is missing. ‘
a) Empathy b) Cgeativity c¢) Practicality d) Imagination

5. The three I's of design tlﬂinking’do not include
a) Interest b) Implementation  c) Inspiration d) Ideation

6. In design, whcre\do\éS»lhe information used to put together a problem statement come

from? .
a) The design stage : b) The ideate stage
c) The dcﬁne stage d) The testing stage

.....
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10.

11.

12.

13.

14.

15.

16.

BIDTK158/BIDTK258/22BD16

i ing in the test stage of
Collecting is an important portion of testing a prototype in 1 g
design. )

a) Pictures b) Moncy ¢) Feedback

d) E mails

al model of a proposed solution used to
b) Validalc idcas

a) Test ideas ;
3 Bt\:hu . d) Nonc ofthese

A pototype is a simple experiment

Identify the correct statement ;

a) To derive the power of design _th _
have a leap of faith about the existence of a solution. - o

b) Leap of faith is the page in the manual of design thinking containing the core
philosophy about design thinking 4 )

¢) Design thinking presupposes that some people are inherently creative and become
successful in creative  product development. The team” should have atleast one such

inking, individuals, tcams and organizations must

person. N
d) None of these;.

Which is not basic modes of thinking?
a) Analytical >~ b) Judical & c¢) Critical d) Synthetic
Design ﬁai_nkér in an organization are.
a) People

c) Managers

b) Employeés 4
d) All of these

What is the main objective of the empathize stage in design thinking?
a) Understanding the problem b) Generating ideas

c) Identifying the user needs ) Building prototypes
Mind mapping diagram provides information about s
a) Customer and product interaction ., > °

b) Idea and its interaction among other ideas

c) Visualization of problem statement

d) None of these

Value chain analysis process provides

~a) Better understanding of customer expectations

b) Uncover the infofmation about partners capabilities
c) Better market analysis

d) All ofthese«. ¢ LA\
Which one of, the below helps in generating hypothesis about potential new business
opportunities? y

a) Prototype L\ X b) Rapid concept development

c) Ideate ; d) Learning launches

A visualization a‘ctiyily was performed by the employees of a bulb manufacturing
company which included information in the form of

a) Images of various types of bulbs produced by the company

b) Its application suitability to the customers in the form of stories

¢) Clears or reduces the possibilities of unmatched mental models/pictures

d) All of the above
: Version A -2 of 6
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21.

22,

23.

24.

25,

26.

BIDTKISS/BIDTK258/22BD16

The goal of the prototype phase is

a) To understand what component of your idea didn’t work

1) To understand what component of your ideca worked

¢) Both of them

d) Nonc of them

o is a tool to use the design details and terms to develop new business
opportunitics.

a) Visualization ' b) Journcy mapping

¢) Rapid concept development d) None of these:

Which tool is used for feasibility check of assumptions of the new business ideas?

a) Value chain analysis b) Rapid concept development

¢) Prototype d) Assumption testing

Identify the process that bnngs users and deSIgncrs together to work towards a shared
goal.

a) Problem statement formulation ‘ "b) Customer co-creation

c) Value chain analysis d) None of these

Which process is a quick and mexpenswe learning test to collect market driven data?

a) Learning launches NS b) Prototyping - .-

¢) Customer co-creation d) None of these

What is an example of a method for conducting user research?

a) Surveys } b) Usability testing

¢) Design sprints d) All of these

What is the process of collecting and analyzmg data on how users interact with a design

in real time called? ;

a) Real Time design interaction capture

b) Real Time design analysis 4

c¢) Real Time design interaction analysis ‘
d) Real Time design interaction capture and analysns

What is the main goal of enabling efficient collaboration in digital space?

a) To create a digital environment where team members can easily share ideas, provide
feedback and work together on projects in real time.

b) To develop a project management software for team members

¢) To train team members on how to use design collaboration software

d) To implement video conferencing tools for remote team members

What is the purpose of user testing?
a) To gather feedback and identify areas for improvement in a product or service

b) To create a user-centered design
¢) To create empathy map
d) To conduct user research

Which one of the following is not a part of various business process model steps?
a) Process maps b) Process detection
¢) Process imitation d) Process termination
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165CS | ;ic components based on
An employer Mrs. ABC divides her business procmcs into 'basic comj

their fanctions and performance for the business is callcld.,
a) Building Product Management

b) Business Product Management

¢) Business Process Modelling

d) Basic Product Management

What is the main focus of design 1hmkmg in 12

a) Efficicncy ~\J4  b) Cost effectivencss
¢) User-centeredness } { > d) Innovation

Which stage in Design lhml\mg Proccss allows for the collaboralion between designers,
developers and stakeholders? . |
a) Empathize \ AP b) Dcﬁng "

¢) ldeate N) d) Test=.

Which one of the followmg are advanhgcs of Busmcss Process Modeling?
a) Align operauons with business strategy -
b) Improves process communication

¢) Improves operatlonal efﬁmencnes
d) All of these

How can Desngn Thinking in IT 1m.prove product services and processes?
a) By identifying user needs and pain points

b) By considering different perspecuves

¢) By rapid prototyping and testmg

d) All of these

Which one of the followmg is part onglle Vlrtual collaboratlon approach”
a) Allow openness., ./

b) Establish a culture of continuous commumcanon

c) Develop a culture of courage and flexibility
d) All ofthese “< ‘3 Ay

What is the main benefit ofusmg a design?
a). Efficiency BN b) Cost-effectiveness

p c) Improved user satlsfactlon y: .\d) Innovation

A \1 \

Business process modelmg replaced the organization’s previous effective packages
a) Time and motlon study . b) Total quality management
¢)aandb “2\ o d)None of these

Which method can be used to design complex software programs based on models, both
structural and behavioural models?

a) Scenario based prototype b) Agile discussion

¢) Simple prototypc d) None of these

For a website dcvclopment project in an industry, the software developers divide the
main project into many smaller projects and adopt an iterative approach to incorporate
any changes needed as per frequent customer feedback. This type of approach is found in
a) Agile n{ethod b) Waterfall method

c) Sprmts N N, d) All ofthese
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A time boxed iteration of continuous development cycle for a planned amount of work
that has to be completed by the tcam and made ready for review is called

a) Prototyping b) Sprint

¢) Experience Design d) Business Model Design

Which onc is the process of sctting goals, procedures and objectives in order to make a
company or organization more competitive? A

a) Visualization

b) Stratcgic management

¢) Group discussion

d) Prototype

Which one of the following is not part of any type of innovation?

a) Disruptive : b) Radical

¢) Conceptual & d) Architectural

Which innovation type is related to new concept, product or service which will create
new value to the existing market and also create a completely new market?

a) Incremental b) Sustaining

¢) Disruptive ¢ d)Radical

Duration of design thinking workshop can be

a)2 hrs -

b) 2 days ' Ry, e £
c) one week N o, 7
d) Depends on the context of the workshop

Which one of the following are part of the scope of strategic innovation?
a) Managed innovation process i \

b) Strategic Alignment PR Y

¢) Industries foresight and implementation

d) All of these :

“The willingness to try some
statement refers to '
a) Story telling

b) Prototyping

¢) Mind mapping

d) Conceptualizing

thring by building, it is the evidence of experimentation’. The

How does experience design relate to' humanization in product development?

a) Experience design focuses on creating a positive user experience while, humanization
focuses on making products more user friendly.

b) Experience design and humanization are unrelated.

¢) Experience design and humanization focuses on creating a positive user experience
d) None of these

Which one is not part of planning stage of design thinking workshop?
a) Learning goals

b) Pre-meeting
¢) Developing flow of activity

d) Idea testing
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= innovation happens when a new 1cchnology' completely disrupts existing
usiness or cconomy and creates a new business model.

a) ln.ucmcnlnl b) Suqlmnmg
¢) Disruptive d) Radical

Which of the following is not consideration \While representing the story of the product?
a) The central idca of the product Y )

b) Engaging the participants

¢) Other products in market o VY .

d) Incorporate adequate detail —f_ .
sidering negative feedback to learn and

3 e

A company collects, analyscs nnd ruvork by con

improve to create a solution that is 4
a) Desirable to customer.. i ) A
b) Feasible to implement. A,
¢) Viable for long term success »
d) All of these o+ A

B A Ry

a) Research and Desngn oV
b) Prototype and Testing (e, ° “2
¢) Design and Manufacturmg - N4

d) All ofthese 4 &

company Instead ofmakmg
hat non models/common peo

clothing that fits models, he

Mr. XYZ is stamng a clolhmg
ple/end users need and plan

wants to start thinking about w
his desngn around them. Accordmgly, he is engagmg in

a) Design thinking v A\

b) Model design _*©
c) End user generatxon Py
d) Model thmkmg ) RS
f “J [
e
4 &
# ‘\ ‘ :/'
&
A,
A %

LMY
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Scientific Foundation of Health
I hr.] By [Max. Marks: 50
lNSTRUCTlONS TO THE CANDIDATES

Answer all the fifty questions, cach questron carries one mark

Use only Black ball point pen for writing / darkenmg the circles.

For each question, after selectmg your answer, Idarken the appropriate circle
corresponding to the same question number on the OMR sheet.

Darkening two crrcles for the same questlon makes the answer invalid.

Damagmg/overwrltmg, using whlteners on the OMR sheets are strictly

proh1b1ted

Being inactive form of life style is called as
a) Sedentary life style ¢ \ % b) Spirited life’ style
¢) Busy life style - d) Lrvely

A person who is able to serve hlmself his natron and hrs communlty rs called as?
a) Gangster b). Srck ‘person c) Heallhy d) Saddest

Balance in exercrse balanced nutrition and adequate rest is referred as
a) Social health ;:{ b) Physical health c) Emotional health d) Intectual health

Individual who' do not think they wrll get ﬂue are less hkely to get a yearly flue short is
an example of»

- a) Negatrve behef b) Uncertamrty c) Healthy behef d) None of the above

Emotional health brings an abrhty in individual to - *\' J

a) React to the situation_ ¢, N ¥ b) Respond to the situation
o) Wrthdraw from the srttzatron d) None of the above

e

AL person has abrhty to bounce back aﬁer d1fﬁcult experiences and adapt to adversity is

called as health
a) Mental hea health;; - b) Fmancral health c¢) Social health d) Physical health

The prime: fao?og which mﬂuences psychologrcal health is
a) Positive mindset b) Gloomy outlook ¢) Dim view d) All the above

One who suffer from meptal illness always see himself as e
a) Happy and Active I b) Gloomy & Pessimist
¢) Unhappy and Worrled d) Both (b) & (c)

Spiritual wellness‘tnvolves

a) Developing compassion, caring and forgiving

b) Peace of mind, happiness and mercy full

c) Huma\n ‘yalues, honesty and self realization ~ d) All the above
Ver—-A-10of4
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Lack of physical health for longer time affects
a) Productivity and performance of Individual
b) Financial health of individual

¢) Mental health of individual d) All the above

An increased intake of energy dense foods that are high in fat and sugar leadsto
a) Cancer . b) Obesity and overweight

¢) Brain hemorrhage . d) Visual disability

Mindfulness of cating means o

a) Chewing food “»  b) Enjoying food

c¢) Creating positive vibration to food d) Both (b) & (c)

What should be the proper plopomon of fats in cvery meal"

a) Equalto carbohydrates, vitamins and minerals

b) Greater than carbohydralcs vitamins and mmcrals

c) Less than car bohydlates vitamins and minerals.., -'d) None of the above

Anorexia nervosa; Bullmla nervosa and Bmge eaters are belongs to
a) Eating dlsorders \ °b). Breathing disorders
c) Sleepmg d1sorders “zznd)” All the above

The ﬁmdamemal cause of obesity and over weight is
a) Balance “in calori intake and calori spent

b) Imbalance in calori intake afd calori spent

c) Calori spent is more than calor1es consumed &

d) None of the above

Excessive intake of nutrlents which creates a stress on bodlly functlon called as___
“)

a) Malnutrition '« B ¢ ,b)e Over nutrition
c) Modified nutrltion “d), ‘Moderate nutrmon

‘f

g L 7 1\, «

Which of the followmg is Non Commumcable Diseases (NCD’s)"

a) Stroke L “b) Cold - By \,; ¢) Cough “ “  d) Fever
The followmg is an example forksaturated fat & 7
a) Pork’ b) Chlcken , c) Buttﬁer d) Cheese
; g e ,y

Excess of BMI (Body MasS‘lndex) in a person leads to

a), Cancer b) R Obesuy ’c) Sugar d) Weight loss
& N, i, i \%
;Physxcal fitness in an; mde‘ic/of -t N
a) Perfect henght»& Welght ratio , b) Perfect body structure

c) Perfect body composition 4 d) Allthe above
. AN

B
\u.

\
Which of thc followmg is behavioral addlctlon‘7 :
a) Nicotine | &4 b) Alcohol c) Drugs d) Gambling

The key strand to overcom\e from addiction ‘ :
a) Stop using substances b) A powerful and positive mindset

c) Poverty P d) None of the above

a‘
Which of the follc ywing statement is true :
a) Addiction 1édsito physical disorders which in turn leads to mental disorder
b) Addiction which affects only physical health
c¢) Addiction which affects only mental health d) All the above
PR Ver—A -2 of 4 :
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A major effeet and health hazards [rom substance
a) Loss of self control

¢) Cardio vascular disorder

addiction is
b) Injury B
d) TFetal damage
Addiction not only impairs
thinks is referred as

a) Physiological complication

a range ol bodily function but also changes the way a person

b). Psychological complication

¢) Biological complication d) Nonc of the abovc /
is an example for substance addiction.
a) Shopping b) Video games ¢) Tobacco d) Using internct
Depression, Anxiety , Loncliness are the effects of
a) Substance addiction b) Bchaviour addlctlon
¢) Both (a) & (b) d) Nonc of the above
What is SUD stands in addiction? Ay,
a) Subjective unit.of distress b) Substance unit of distress
¢) Substance usc dlSOl‘dCl‘ +d) None of the above
The purpose of, usmg drugs are J

a) To detoxify the body
b) To feel high pleasure, relieve strcss forget problems

c) To boost physical health PN % d) Allthe above

Addlctlon not only damages physncal and mental health but also aﬂ"ects
a) Relationships & Financial status b) .Only friend circle n

¢) Only economic stat‘qg:g‘v_ d) None of the above 3

e ) %

A good listener is the one who
a) Non judgmental,
c) Make uncomfortable

&
&

'b) More talkatxve
d) Create stress J

The value of good relationship depends on 4
a) Self care b) Mutual respect
c) Mutual money exchange:™; “’/ d) Noric of the above
Vi 1317
The art of transmlttmg mformatlon R 1deas and “attitudes from one person to another is
refcrred as ‘1 , %
““a), “Tradition /= b) “Obstruction """-‘»f-r;‘cc)" Communication  d) None of the above
. u )
Goals ofCommumca'uon are Een

a) Sending and recelvmg of mf:prrrr'latlon
b) Inform; to persuade and to build rélationships
¢) Encode and decoding of information  d) All the above

/L

One of the step to mcrease vocal clarity is

a) Slow down the conversation b) Fasten the conversation
c) Stopthe conversatlon d) None of the above
Communication.j 1s the ¢ key to healthy relationships because it

a) Avoid mlsunderstandmg b) Create misunderstanding
c) Brings expéctation d) None of the above

] -'.\ B
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“Wearing seat belt while driving™ is an example for
) Unhealthy behavior through social engineering
b) Healthy behavior through social engineering

¢) Social responsibility d) Both (b) & (c)
—_influence people mindset to botl positive and negative,
a) Socinlgmlwring b) Travelling fn.C)eMedia d) All the above
. . . . l<\‘ \ 1\ l}‘ﬁ . . ’ l‘.“. h
Dress code of individual is an example of., 'y communicationyy,
a) Spoken b) Verbal f&, ¢) Non - verbal . d) None of the above
/‘, n ‘.'"JM y v
. . _AI\ i I\ /‘ LN
An unhealthy relationship causews, 1 )\ B
A ’ . Y
a) Lot of stress Ve Wt b) Trust in'cach other
¢) Harmony in cach other  I# d) All the above
2 ¢

‘I o
How to maintain better (iq:ili[y of life in chronic jlla\qs"‘s’?‘
a) Good medical advi‘\é\e,ﬁliving healthy life style dﬁd\‘negativc mindset.
b) Good medical éailfcc and positive mindset ¢
¢) Good ll}CdiCéf\“{;ﬁVfcc and living hcalthy’iifg style.

d) Good medical advice, living healthy li'fezwty'l\e and positive mindset.

ﬂ"'\:\ . o .
The discgg_e'wh)lch cannot be curedﬁput It can be managed is called as
a) Acuite illness b) Infection discase ¢) Chronic illness d) Allergy
=2 PANE N

The folldwing is an example for chronic disease : 3;"" '
a) Diabetes b) Cold ¢ ) cﬁ‘@w d) Head ache

e, \ R )
Following are the measﬁre@r%@ired in maintaipir?g"’ Quality of lif‘é'*ih.-chr:?)nically ill state.
a) Emotional support b) (Understanding the medication

¢) Reliable infogrg"%tigl about diseases, ‘ii‘%;eatment and mai%gement

d) All the 8y e ,4% 2

The following are the steps to avoi(ﬁf‘aﬁémitted infections :

a) Good,ﬁygigne b) Vaccinations ¢) Tembperature d) Both (a) & (b)
o \’{;, )

Virusﬁ?”é tt;?ia, Fungus are | ﬁ%’nslof transmissio%ﬁ disease.

a) Infection b) G}‘@cer ¢) Stroke d) Obesity

c) Low d) None of these

%
47. % th compromisin behi¥ior are commof)&fi‘s,een in class of people.
a) High (%P) Middle B

48.

49,

50.

and experienéa? Aoy

. s, S :
a) Docton™ 4oL ered communication b) Patient - centere
¢) Practitionér — centered %)grﬁunication d) None of these

Health has intimacy with,\
a) Behaviour l;) Society ¢) Personality d) All the above

What is a sign Off&jjg [riendship?
a) Lack of empat y Vb) Understanding ¢) Being supportive  d) None of these

%I * ok K % %

Ver A —4 of 4
&

‘ ¢
Which of the foll‘gw‘?ng health co;in;ﬁunication style makes use of the patients knowledge

d communication

RN



o | [ [T T]

@@m@% BICOK107/207
u_‘ﬁ ‘ —

Question P:lpcr Version : A

First/Sccond bcmcslcr B.E. I)cgrcc quumin'atiun, Dec.2023/Jan.2024
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Indian Constitution
: [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, cach qiiestion carries onc mark.
2. Usc only Black ball point pen for writing / darkening the circles.
3. For cach question, after scleetixng your answer, darken the appropriate circle
corresponding to the same _q'ucstion number on the OMR sheet.
4. Darkening two circles for the same question makes the answer invalid.
S. Damaging/ovcrwritin@ using whiteners on the OMR sheets are strictly
prohibited.
1.  The idea of a.Constituent Assembly for India was put forwarded by
a) B.G. Tilak b) M.K. Gandhi ¢) M. N. Roy d) Motilal Nehru
2. In thch year, did the Indian Natxonal Congress for the fi rst time demand a Constituent
Assembly? g
a) 1934 b) 1935 c) 1936 d) 1937
3. First time Constituent Assembly Constituted under the scheme formu]ated by the
a) Cabinet Mission Plan~ ~ /b)” Mount Batten Plan ~
c) Non- Cooperatlon Movement d) None of these ’
4. Members of the Constltuent Assembly. were
a) AllElected , 7 b) All Nommated
c) Panly elected and partly nominated d) Selected
5. Constituent Assembly hold its f'rst meeting on _- . “‘x
a) Nov 9, 1946 b) Dec.9, 1946 c) Nov 9 1947 d) Dec.9, 1947
6. ,When did “Objective Resolutxon was ad’opted by the Constituent Assembly?
“.a) 1946 g b) 1948 “mc) 1947 d) 1950
7. First Draft of the Consuluuon was published on
a) Jan.24,1950  b) Jan. 24,1948 ¢) Aug. 15, 1947 d) Feb. 1948
8. _Drafling Committee had ___ number of members.
a) 10 by 15 ° c) 07 d) 05
9. Provincial Constitution Committee was head by
a) Dr. Rajendra Prasad b) Dr. B. R. Ambedkar
¢) Sardar Vallabhal Bhai Patel d) Jawaharlal Nehru
10. The concept of “A’Union of States” in the Indian Constitution has been derived from

a) The American Declaration b) The Australian Constitution
¢) The BrltlSh North American Act d) The Swiss Constitution
PR | Version — A -1 of 4
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India can make its own laws because, India is :
a) Independent b) Sovercign ¢) Sccular d) Democratic
Preamble is

b) Amendable part

a) Part of the Constitution
d). Both ‘a’ and *c’

¢) Non-Amendable

Fundamental Rights arc

a) Enforccable b) Absolute d) None of these

c) Extraterritorial

“Rights are not only the privilcges, they are the weapons in hands of citizens to control

the Arbitrary Government™ — who gave this statement?

a) Dr. Baby Rajendra Prasad b) S.V. Patel
¢) J. L.Nchru d) Dr. B. R. Ambedkar

The Preamble to the Constitution declares India as /

a) Sovereign, Democratic , Republic PR
b) Sovereign, Socialist; Secular, Democratic, Republic
c) Socialist, Demaocratic , Republic f

d) Sovereign, Democratic , Republic, Sécular.

The Preamble aims to secure

a) Fundamental Rights

c) Dignity of the Individual

b) Fundamental Duties
d) Security of the People

Freedom to form an Assembly can be restricted on the ground ,
c) . Health d) Wealth

a) Public order b) -Morality

Fundamental Rights are not applicable to
b)" Criminals

a) Foreigner . .
c) Members of Armed Forces d) Both ‘a’ & ¢’

For enforcement of Fundamental R_ights Supreme Court can issue
c) Writs d) Allthe these

a) Anorder b) Direction -

Provisions of Art. 20 applicable only in

a) Criminal cases b) Civil cases c) Administrative cases d) Military cases

rinciples of State Policy.
b) Right to Information Act

d) Passport Act

It is a law passed to givé effect to directive p
a) Equal Pay formEi]ual Work Act
¢) Juvenile Delinquency Act

Fundamental Dut’ics are
a) Enforccable b) Absolute

¢) Restricted d) Non - enforceable

Free Legal Aid is applicable to
a) APL Families '
¢) NRI Families

b) Financial Incapable Persons
d) CPI Families

It shall be duty of the every Citizen of India
a) Value our Culture
¢) Impose our Culture

A =B

b) Renounce Foreign Culture
d) Preserve Western Culture

Version — A —2 of 4
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Fundamental Rights and Dircctive Principles arc

a) - Complementary to cach other b) Oppositc to each other
¢) Extension to cach other d) Nonc of these

'/\II':‘liw l-ixpculivc powers of Union shall vest with
a) The Prime Minister b) The President ¢) The Parliament  d) The People

Who is Competent Authority in India to declare War?
a) Defense Minister b) Prime Minister ) Chief of the Army . “d) President

Union Legislature shall be

a) Bi Camecral b) Uni Cameral c¢) Tri Cameral d) Any Cameral
There shall not be more than gap between two sessions of the Parliament.

a) 6 months b) - 6 wecks c) 6 days d) 6 years

The Prime Minister is '

a) Elected . 'b) Appointed ¢) Nominated d) Both (a) & (b)
Maximum strength of the Lok — Sabha is*.

a) 550 b) 550 +2 c) 545 d) 600

Which House of the Parliament is known as Elders and Knowledge House?

a) Lok - Sabha b) Raj - Sabha ¢) Both . d) None of these
How many time is Presndent can return the Bill for con51deratlon to Parliament?

a) Once S Y b) Twice

¢) Thrice ‘ d) Any number of tlmes

Which of the followmg non — member of Parhament has the right to address it?

a) Auditor General of India b) Chief Justice of India

c) Attorney General of India - d) Chlef Election Commissioner

Soverelgmty of Indian Parltament is restricted by
a) Powers of the President - b) Judicial Review
c) Leader of the opposmon .d) “Power of the Prime - Minister

Which one of the followmg Bills must be passed by each House of the Indian Parliament

separately by special majority? ,
a) Ordinary Bill £ b) Money Bill
c¢) Finance Bill ' d) Constitutional Amendment Bill

To be recognized as an of['cml opposition party in the Parliament, how many seats
should it have to win?

a) 173" of total strength ™ b) 1/4" of total strength

¢) 1/10"™ of total strength d) 1/6" of total strength

This is not the Committee of the Parliament.

a) Standing Committee b) Public Account Committee
c¢) Estimates Committee d) Welfare of Minorities
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The Salary of the President and Vice — President is charged on
a) Contingency FFund b) P.M’s Fund
¢) Parliament Fund d) Consolidated Fund

The Parliament of India exercises control over the functions of the Council of Ministers

through
a)  Adjournment motion b)  Question hour
¢) Supplementary question d)" All of these

Which among the following is the final authority to interpret the Constitution?
a) President b) Supreme Court  ¢) Council of Minister d) Parliament

A Governor holds office ‘
a) For Five years b) For a period specified by the Parliament
¢) During the pleasure of the President d) None of these

Chairman of Legislative Council is

a) Appointed by the Governor b) The Governor
¢) Elected by the members of the Leglslatlve Council

d) Appomted by the Speaker \

Election Comm15510n isa
a) Elected body Poi b) Constitutional body
¢) Statutory body Ty d) None.of these

A proclamation of Natlonal Emergency must. be placed before the Parliament for its

approval.
a) Within 1 month b) Wlthm 2 month c) Within 6 month d) Within | year

President’s Rule can be imposed for a maximum period of
a) lyear ° “b) 2years ¢) 6 month d) 3 years

Which Constltutlonal Act made elementary education a Fundamental Right?
a) 86" CAA 2002 b) 87th CAA2003 <) 91 CAA 2003  d) 100" CAA 2013

Who summons, prorogues and dissolves the State Legislative?
a)  Chief Minister . b)  Speaker
d) President of India

Minimum and Maximum strength of the Legislative Assembly is

a) 60 and 500 " b) 40and.100. ¢) 70 and 700 d) 100 and 1000
number of people rcprcscnts graduate Consmuency in the Vidhan Parishyadh
a) 1/10" b) 2/3 c) 12" d) 1/5™
k % k %k k
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[Max Marks: 50

Time: 1 hr.]

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questlons ‘each question cames one mark.

Use only Black ball pomt pen for writing / darkemng the circles.

3. For each questlon,
correspondmg to the same questlon numb

4. Darkenmg two circles for the same questlon makes

er on the OMR sheet.

the answer invalid.

S Damagmg/overwrltmg, usmg whlteners on the OM

-

proh1b1ted

after selecting your answer, darken the appropriate circle

R sheets are strictly

Choose the Approprrate Answer from the glven ophons (Q. No.1, to Q No.10).

1.  Which of these qualmes are lmportant in group d13cussron‘7

a) Emotional stability” ~b) . Hostility /
¢) Ignorance z~; d) Aggressweness

2. The first objectlve ina group dlSCUSSlOﬂ is'to :
a) prove your superiority '

c) create subgroup d) catch the .groups attention

In an mterwew when you do not know an answer, you should
a). bluff e T b) keep guessing

.c) admlt you do not know the answer ) ‘remain quiet

4. A summary placed at the begmmng of the CV acts as
a) Synopsis ‘ $ b) Statement of Objectives

¢) Preface < ‘ d) Letter of recommendation

5.  The application letter is :

a) aforeword A%
b) adescription of yourcore strength and suitability for the Job

c) statement of yourJob objective
d) asummary of your qualification and experiences.

6. The best way to apply:for a Job is to submit a resume that is :
a) Self - recommending b) Suitable for any Job

¢) Specifically written for the particular Job
d) Full of personal information.

Ver A-1ofS§S
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Which kind of interview includes a process in which” the employability of the Job

applicant is evaluated?
a) stress interview by ‘screcning interview
c) group interview ) behaviour interview

“Tease™ or “Stress” questions are intended to judge :
a) how the candidate handles them b) the candidate’s intelligence quotient
¢) the candidate’s stress level « V" d) the candidates technical skills

The left part of our brain cont_rolé ; '

a) emotions b) creativity ¢) imagination d) logic & reasoning
When should you arrive for you interview? A

a) at the time it is schedules b) 5= 10 minutes after the scheduled time

c) 5-10 mmutes before the scheduled time d) go after 10 minutes

A panel mterwew is known as :

a) panel intérview ‘ b) “face to face interview

c) boards interview ¢ d) telephone interview

What are the successful strategies for 1ntervxews’7 ‘

a) Personal rapport . b) good eye contact

¢) clear 1deal of the key pomt ‘ d) all of the above

A precise should be wntten in - person : |

a) third person b), second person c) ﬁrst person d) none of the above
What are the types of paragraph writing? g i ‘

a) narrative, persuasive A , b) descriptive

c) exp051tory © w7 d) allofthese

p

Antmpatmg tone can promote. . Vv Lo\
a) fear * b) excntement c) aggressidn d) none of these

> 4

lfthe speaker uses the word “but” he is makmg a point of

“a) Background ) b) Theme c) Setting d) Conflict

Choose the Appropriate Verb (subject verb agreement) that agrees with the subject
(Q.No. 17 toQN019) h

A neon and organge T — shirt chosen by me at the boutique.

a) s b) was . c) were d) are
Everyone in the family . been questioned about the theft.

a) has y ‘y b) were c) have d) is
Each of the six boys i the class their task.

a) was completed  b) were completed ¢) have completed  d) has completed
4 Ry
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&




20.

21,

22,

23.

24,

25.

26.

217.

28.

29.

30.

BPWSK106/206

Sclect the correet meaning of the underline idioms (Q.No. 20 to Q.No. 22)

He is leaving the Country for good.
a) for better prospects b) for a good causc
¢) forever d) for other’s good

Companics producing a good play to the gallery to boost their sales.”
a) advertiscs b) caters to the public taste
¢) attemptto appeal to popular taste: 7~ d) depend upon the public for approval

It was he who put a spoke in my wheel.

a) tried to causc an accident b) destroyced the plan
¢) helped in the execution of the plan d) thwarted in the execution of the past

\

Choose the appropriate answer from the given 6pti6ns (Q.No. 23 to Q.No. 25)

Which of the below statements is correct in the case of the title of the blog post?
a) it should describe the content 'b) ‘it should be catchy
c) itshould contain a focus keyword d) all of the above

Creating and publishing video content Qn..a blog is called.

a) Vleg\ b) News ..\ o ©) Media Bloig:;:-‘* d) All of these
What are the 4 headings of a memo? &, : :

a) From, date, to, subject <" b) To, from, date, subject

¢) Subject, to, date, from . - d) None of these )

Choose the appropriaté phrases from the zi\;en option to fill in the blanks :
(Q.No. 26 to Q.No. 28) 9 £,

“You can have. n-1yxseat. [ am g at‘fhe next stop”, said a young girl to me in the
local train,:, ¢ A

a) gettingin®, b) getting down c) geiting away d) getting up

I " all the instructions, still was not happy.

a)’ carries away b)/carried off _\_’c) carried on d) carried out

The union has jhé strike. e :

a) calledof { “b) called off c) called in d) called into

Choose the ap'prdpriate answer from_the given options (Q.No. 29 to Q.No 30)

Which cannot come at the end of the sentence?
a) a period EA™ b) acolon
¢) an exclamatory mark-“ees, d) none of these

Which of these sentences has the comma in the right place?
a) Please get me, some eggs milk and some butter.
b) Please get me some cggs, milk and some butter
c¢) Please get me some €ggs milk, and some butter
d) Please get me some eggs milk and, some butter

Yer A -3 of §
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Choosc the correet tenses from the given option to fill in the blanks (Q.No. 31 to
Q.No. 32)

Most workers as labourers in factorics where their wages were fixed.

a) is employed b) has employed ¢) were employed d) was employed
It in Delhi since moming. ini
a) rained b) had been raining - ¢) is raining d) has been raining

Read each sentence below and find ‘out whether there is an error. The error, if any

will be onc of the part of the sentence which are marked as 1,2, 3 and 4 (Q.No. 3310
Q.No 35)

Recently 1 visited (1) / Singaporc and found (2) / the sceneries to be (3) / breath —
taking (4). g A

a) 1 b). 2 c) 3 d) 4

The present datas (1 )/ shows that the (2)/ death rate (3)/ has fallen (4).
a) 1 b)) 2 ) 3 d) 4

Darts are (1) / played by (2) / men as well (3) / as women (4).
a 1 A b2 s 93 d) 4

#

Choose:the appropriate answer, fi"'om’ghe given option V(Q;No. 36 to Q.No 37)

The executive summary in technical writing is another name.
a) Cover letter b) Introduction c) Discussion d) “All of these

A proposal is a medium aimed at %
a) instruction ~ b) persuasion .-€)_pre vention d) advice

Choose the appr&pi‘iate answer for the givéh option (Q.No. 38 to Q.No. 40)

They will rebuild the entire block. .
a) the entire block id being rebuilt b) the block may be rebuilt entirely
c) the entire block will have to berebuilt  d) the entire block will be rebuilt

The captain said to his men, “Stand at ease”. .
a) the captain urged his men to stand at ease.

/b). the captain wanted his'men to stand at ease

¢) the captain told-his men that they should stand at ease
d) the captain commanded his men to stand at ease.

The future of women in India is quite bright and let us hope that they will justify their
abilities by rising to the occasion. Napoleon was right when he declared that by educating
women, we can educate the whole nation. Because a Country can never rise without the
contribution of 50% of its population.
The passage best supports the statement that :
a) India is striving hard for the emancipation of women
b) All women should be well educated
c) A Nation can progress only when women are given equal rights and opportunities as
men
d) Women ought to be imparted full freedom to prove their worth and contribute to the
progress of the Nation.
' Ver A—4of5
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Choose the appropriate answer for the given option (Q.No. 41 to Q.No. 50)

Which of these i xt Ny . i ; ) .
ich of these is the right format for writing the date in all the formats or a business

letter?

a) 23/03/2023 b) 23" March, 2023 ¢) March 23, 2023 d) both (b) and (¢)

How is a complaint letter signed off?

a) Looking forward to getting prompt delivery

b) Looking forward to getting prompt and positive action

¢) Looking forward to getting timely delivery of goods d) None of these

How should a business letter look like?

a) It has to be professional and effective by using the template

b) It should be written using cast words so that an illiterate can also understand
¢) It has to be written similarly to an informal letter

d) 1t should be written brief and short.

What is the sender’s address of this letter?
a) Adidas India Pvt. Ltd. b) M/S Ram Prasad and Sons, Rewa (M.P)
¢) Senders address not given d) None of these

allows the user to send a file with an e — mail.
a) draft b) sent -~ c) messenger - d) attachments

What is the use of Carbon Copy (CCy?

a) recipientare invisible to all of the other recipients of the message in CC

b) recipients are visible to all of the other recipients of the message in the CC.
¢) recipients are invisible to only one recipient of the message in the CC.

d) None ofthe above." Lo

Positive gestures are body signals that makre glou look.

a) arrogant b) nervous . ¢) relaxed d) hurtful

If a speaker winks after saying something it suggests to the audience that the subject is
a) non - serious b) incredible c) series’ d) true

In, a presentation which things"play an equal role?

a) context and voice b) text and font ‘c) time and size d) sortand intent
Which of these is not a step in the listening process?

a) to stop talking b) receiving ¢) misinterpreting d) responding

T ER N
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INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty qucstlons, each question carries one: mark.

2. Use only Black ball pomt pen for writing / darkenmg the circles.

3. For each questlon, after 'selecting your answer, darken the appropriate circle

corresponding to the same question number on the OMR sheet.

4. Darkening two. c1rc1es for the same questlon makes the answer invalid.

5. Damagmg/ov_erwrltmg, using whlteners on the OMR sheets are strictly

prohlblted
1. ‘Communication’ The word originates from Laten word
a) Communicm b) Communico~ c) Commumcatwe d) None of these
2. Communication is a . process. e, %
a) one way b) ‘two - way c) three way ) None of these

particular month, the discussion held

3. In order to achieve the productlon target” f'or a
ger w1ll certamly be a perfect instance

between the productlon manager and supply mana

of Communication. . ‘ 5
a) Vertical b) Spiral o ¢) Cross WISCS d) Horizontal
4. ‘Poor Prmtmg it is a type of Bamer ‘ :
a) Verbal barrier ,
c) Physxologlcal bamer

b) f~'rP§yphélogical barrier
d) Physical barrier

Communication.

5. -‘Transcendental medltatlon is example of
d) Non - verbal

“a). Extrapersonal ¢’ b) Interpersonal * c) Intrapersonal

6. The most straight:—forward, ba_slc“mterpersonal communication meaning is
Communication., Ao\ I
a) Mass Commumcatlon - b) Interpersonal

c) Extrapcrsonal d) None of these
cause to effective Communication.

b) Listening barrier
d) Non - Verbal barrier

7. Flashing eyes, avoiding’ey¢ contact may also
a) Vernal barrier
c) Psychologlcal bamer

8. In general oral’ Commumcatlon is the interchange of between the sender and the

receiver.

a) cues’ and clues b) speaking c) gestures d) verbal messages

Ver A—1of4
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‘Follows a sct pattern such as sequence of clements in_a rcport’ this is
Communication. )
8y Professionl b) General ¢) Personal d) None of these

In Organizations, informal communication also permeatcs. This informal communication
1s called
a) Personal b) Professional ¢) Grapevine d) None of'thee

One native regional accent that has gained somal prestige is the . of English.
a) Received pronunciation . b) Reverse perception
¢) Transcription "~ d) Nonec ofthese

A vowel sound whose quality does not change over  the duration of the vowel is
called Ty
a) Vowel b) D1phthong ¢) Pure vowel d) Consonant

The consonant sounds that come before vowel sound are called
a) Coda b) Onset c) Medlcal d) None of these

What is the d1v1stn of syllables ofword Informatlon
a) in-form-ation © b) inform-ation = ¢)’ in-formation d) in — for - ma - tion

Transcribé ﬂ\é word ‘daughter’.
a) /’d:)'t‘el b) /di)’tE)/- c) /d:):tr/_’ d /d3:t9/

‘No. The women with the Dlastlc bag’. In this semence Wthh words are having falling
tone?

a) No, The woman b)' 'Plas,tic bag c) No bag d) ‘None of these
Find the silent letter in the word ‘though’, G
a) th . b) ou ~'_c) ugh Ay, d) gh
In the word Sheep often mlspronounced sound is
a) /j/ by /S/ . c) ee ;, " d p
Correct the spellmg of the followmg word : )
a) Renumeratlon b) Remuneratlon c¢) .Remunation d) Remuration
) How to pronounce the word ‘Next’? .~ \

“"a) “nekast K b) nekest c) nekist d) nekst
I have to, buy a car. (Use appropnate noun)
a) norupees . - b) no notes) . ¢) no money d) no moneys
and ____ want to purchase a yacht. (fill with suitable pronoun).
a) He.land you b) You, he and | ¢) I, he and you d) You,Iandhe
The flower smells (ApprOprlate Adjective is) -
a) sweet < b) sweetly c) sweeter d) sweetest
It is hoitcr\:loday, (place an adverb).
a) most & b) very ¢) more d) much

N\ Y Ver A—2of 4
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Hardly had he arrive i : 3
dly had he arrived __the portico crumbled. (Choose'corfect conjunction)

8) than b) then ¢) when A5 d) Nonc of these
, A

We could barely do anything,. (suitable question Tag).
a)  Couldn’t we? b) Could we? c) (,an wc) d) Nonc of these

g ) )

A Person who believes in God, we call him (7,
a) I'heist b) Athceist o C) ‘Fcccnlric d) Spmg[cr

‘I saw a man” in this sentence which is pmnounccd with a weak verb w:thout any special
cmphasis. ¢

a) 1 b) man \/ ¢) saw ., ¢ d) a

S "‘ /\/ }
Flour is made wheat, (sull'lb]L preposition) # \‘-,) J
a) of b) by 73 c) f'rom " d) in

Humanity i IS m dan&,cr (Choose the correct option).

a) A b) ) An c) “The, ~ d) Not needed any article
Fill in the banks wlth appropriate prcfixes
The army people '\:V attacked the enemy\ \':\‘5
a) in- & \ b) Inter R ¢) Counter d) Un
My resealch Supervisor is <Crltlcal about everythmg
a) hyper b) un 2NN c) mono ALY d) intra
Choose the pairs of word,/\ phrases : A
Archive : Document A D

a) Warehouse : merchéndlsé & b) lerary Shelves

¢) Theater: Plays ¢ { e d) Cinema : PrO_]CCtOI‘

A \f\.‘ ,
Coal : Mineral“=, J R,
a) Oxygen Water b) river: dam\‘ c) gold : metal d) silver : mine

Choose the correct subject — verb concord in the seﬁntences :

Dlabetes a silent klller |74 "

a) is’ b .are” ,..€) ‘Were d) None of these
194 A Ry

The Jury gave »= verdict in an unbiased manner.

a) their ~. Ib) them s C) s d) None of these

L5, / A i

Complete the scntence with Approprmte tense from :

Sir, 1 passcd my B.Tech in 2003

a) have b) hdS ¢) was d) Not required
A

We finished our‘asslgnmentjust now. _

a) have b) has ¢) had d) None of these

&, .
Choose the cmjrest-optlon :
A

was visible at this late hour.

a) No man 4 b) No ¢) No men d) None of these
& "\ .-‘:L"\}
g, Ver A-3of 4
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The tycoon had expired before the L8N
a)  Physician arrives b) Physician’ drrlvmg

¢) Physician arrived d) l’h)’“cmn had arrived
¢
When . Lwill tell him everything. PR
a) heis coming 1) he comes ) hc'will come d) Nonc of the above

Which of these must be avoided in Plesenlatmn'7 _ )
a)  Proper grammar b) Complex wmds ©) Short sentence .d).. Clear voice

Which of these can be used to break lh(. mOnolony ina specch"
a) Humour b) Constant tone* ¢) Lowvoice = ¢ d) Sad story

Mother tongue influence can bé cffclcuvcly minimized in thc classroom by
a) using the mother tongue’ morc ‘often b) giving examples from the mother tongue
¢) giving a lot of exposure,in ' the target language g &
d) giving inputs from the, ta:g,ct language in a snmple graded manner.
The art of clear and c\:onelse manner of speakmg, w1th clarity of meaning and thought
called E‘-J ¥
a) Elocution ‘\\ b) Latency \ c) Extempore d) Story telling

'R o),
Read Comp\Fchensmn Read the passage carefully and select the suitable answer
from the: gnven options :

Quate recently India laid the\ foundatlon stone for-one of its most sought — after
projects’running a Bullet Train. It was very well consxdered as a dream project of the
Honorable Prime Minister. Entire India felt proud” ‘of ‘having its first ever bullet train
scheduled to run between Mumba1 and Ahmedabad a distance.0f>508 km in about
2 hours 35 minutes. In. l‘llS own words, “To grow, one needs to expand one’s dreams and
decide one’s strength to achieve that. It’s the:New India which has to fly high™. “Bullet
Train is a project that’ “will provide pacedto developmem Along ‘with new technology. it
will also bring results faster”, he added"Accordmo to Achal Khare, the Managing
Director of the National High speed Rall Corporation, the pI‘O_[CCt would be completed by
December 2005. ©

Ry 7 ¢

S

o

The ““for the Bullet Tram*pmJect was laid recently
a) rallway frack b) sngnalmg system ¢) foundatlon stone d) None of these

he bullet train will take about to run between both the States.

fa) %3 hrs, 25 min A b) 2 hr, 55 min sC) 2 hr, 35 min d) None of these

Accordmg to Prlme Mlmster, the twor benefits that the bullet train will bring are to

provide pace 10 _» ) to faster 2 :
a) travel, tramér Ao \ L_‘;-' b) train, travel, results
c) devclopmcnt trains ' d) development, results
The bullet train schedule to run between and
a) Mumbaiand Ahmeddbad b) Mumbai and Delhi
¢) Mumbaiand GUJarat d) None of these
The project is cxpcctcd to be by December 2023.
a) compleled‘ =), v'b) operationalised c¢) started d) None of these
&
/q_ * %k %k k ok
Ay
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Balake Kannada

(COMMON TO ALL BRANCHES) . ' 3
: [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, cach question carries one mark.
2. Usc only Black ball point pen for writing / darkening the circles.
3. For cach question, after selecting your answer, darken the appropriate circle
corresponding to the same question nu’inber on the OMR sheet.
4. Darkeningiwo circles for the same que@stio}n makes the answer invalid.
5. Damaging/overwriting, using.f;j;;vhiteners on the OMR sheets are strictly
prohibited. e
Fill in the blanks with suitable words given: 7 S
1. niinu . N 4 .
a) yaaru “.b) adu . ¢)yaake 4%, d)avaru
2. adu pﬂstaka? o )
a)yaara , 4 byenu . c)niivu . 7 d) avaru
3. idu__ 4.0 o Kaaleju % A, -
a) niivu b) avaru " c) avala d) yaake
4. avaru —gurug’é_L‘u.'> A\ R
“a)enu £ b) yaake “““¢) namma d) elli
5. nanna Amma/" A
a) avaLu . b)avanu .\ "y c)yaake d) idu
Write approp'r/iatc words to fill the blank and make sentence meaningful.
6. idu mane. < -
a)enu b),avaLa ¢) huDuga d) yaake
7. naanu________ " bandenu.
a) Kaalejige =~ ° b) avana c)avara d)enu
8. niiva___4 ___ hoguttiddira?

ayellige_* b) enu ¢) avara d) avana

Version A -1 of 4




BKBKK107/207

9. vanu akka. d) Nanna

a) nanna h) naNNa ¢)en )
10, adu vaara

R [) nanna

a) Mane b) mane ¢)enu i

Change the word as per the model:

(Ex: doDDa + avanu= doDDavanu)
11, SaNNa . ‘

2) sannavanu b) saNNavanu ¢) SaNNavaNu d) SANNAVANu
12. Chikka__ ,

2 Chikkavalu ) Chikkavanu ) Clilkkavanu d) CiKKaVNu
13. KeTTa ' 1)

a) kettavanu b)KeTTavanu — “¢) KeTTavaNu d) KettavaNu
14, ettara ' ‘

a) ettaradavanu b) ettaravanu ¢) Ettaradavanu d) ETTaradavanu
15. mane /

a) maneyavanu b) Maneyavanu ¢) ManeYavanu d) maneyavaNu

Transform the following words of Kannada as per the given model.

(SaNNa - SaNNadu) 7, '
16. DoDDa AWM B A

a) DoDDadu * b)doDDadu . ' ¢) doddadu d) DODDADU
17. avara (9 7

a) avaradu b) Avaradu”* ¢) avaraDu d) AVARADU
18. namma -

a) nammadu b) NammaDu ¢) nammaDu d) NaMMaDu
19, hoSa

a) hoSadu b) Hosadu ¢) HoSaDu d) hoSaDu
20, avala '

a) avaLadu b) AvaLadu ¢) avaladu d) avanadu

Transform the following words of Kannada as per the given model:

(mane - maneyalli)
21, raSte :

a) raSteyalli b) Rasteyalli ¢) RasTeyalli d) raSteYalli
22, pustaka

a) pustgkada]li b) pustakaDalli ¢) Pustakadalli d) PUSTAKADalli
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angabi

a) angaDiyalli b) Angadiyalli ¢) angadiyalli d) angaDiyalli
byag ,

a) byaginalli b) byagiNalli ¢) byagalli d) byaGalli
daari

a) daariyalli b) daariYalli ¢) daarinalli d) Daariyalli

Fill in the blanks with suitable words to make the sentence meaningful:

avaL.u nimma '
a) akka b) Akka ¢) anna

d) tamma
avara yaavudu?
a) aane b) mane ¢) MANE d) Mane
nimma hesaru ? \ Y
a) enu b) yavadu ¢) yaake d) Enu
avaLu nanna A
a) snehite b)snchita . \ v c)geleya d) huDuga
Kaalejige hoguva yaavadu? N
a) Daari b) daari ¢) DAARI d) DaaRi
Change the word as per thé modecl given: |
(KuDi — KuDiyiri),
tinni -
a) tinniri , b) tinniyiri “ ¢)tindiri d) tandiri
ese ;
a)eseyiri =, b) eseiyiri -, ¢) Eseyiri d) eseiri
nuDi '
a) nuDiyiri b) Nudisiri ¢) NUDIYIRI d) nudiyiri
Savi
a) Saviyiri 'b) Savida : ¢) Satya d) Sullu
mare : l N
a) mareyiri b) Kareyiri ¢) MAREYIRI d) Mariri

Fill in the blanks using the correct form of the Kannada word to make sentence
meaningful one.

niinu (who)

a) yaaru b) Yaaru c) YAARu d) yaru
indu uurige hogoNavaa? (we)
a) naavu b) Naavu c) NAAvu d) Naau
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idu _pustaka. (her) PR )
a) aval.a b) avana ¢) avara /7 d) nanna
nanna snchita. (1c) ! ‘5
a) Aval.u b) Avanu ¢) Avara d) Namma
fo, © A
indu Kaalejige baruttiyaa? (You)” A N
a) niinu b) Ninu ».¢) neenu d) Neenu
W, ?
(Y’
Transform the following words into Kannada as per the model
(ondu - ondancya) R (‘._\‘\.s ' / \
A,
eradu Al P
a) eradancya b) ondaneya c) l~Ia;'t\a'N'c\'yq d) Mooraneya
\\}; o v
muuru A é
a) muuraneya (:S Lb) Muraneya ©) MuuRaneya d) MUURANEYa
B
| V A
Aidu Al { ‘I\:\ v
a) aidaneya %,/ b) Aidaneya ¢ ¢)aiduaneya d) AIDANEya
X, ,ff‘\ -
aaru 4\ o\ B LY
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